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67.

68.

Match the Gene Interaction Type (Column-l)
with its typical Phenotypic Ratio or Example
(Column-11) and select the correct answer using
the code given below -

Column-I

(Type of Gene Interaction)

(A) Complementary gene interaction

(B) Recessive epistasis

(C) Dominant epistasis

(D) Duplicate gene interaction

Column-II
(Phenotypic Ratio/Example)

(i) 15:1 (e.g.. seed capsule in shepherd’s purse)

(1) 9:3:4 (e.g., coat color in mice)

(iii) 12:3:1 (e.g.. fruit color in summer squash)

(iv) 9:7 (e.g., purple flower in Sweet Pea)

Code - R

(1) (A)-(1), (B)-(ii), (C)-(iii), (D)-(iv)

() (A)-(ib), (B)-(iii), (C)-(iv), (D)-(i)

B) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(i)

(@) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)

(5) Question not attempted

Consider the following statements and choose

the correct answer from the options given

below -

Statement (A) : Increase in hydrogen ion-
concentration
dissociation of oxyhemoglobin.

Statement (B) : At the lower Oz tension,
oxyhemoglobin dissociates
more readily in the presence of
salts compared to their absence.

(1) Statement (A) is incorrect and Statement (B)

is correct. E

(2) Statement (A) is correct and Statement (B) is

incorrect.

(3) Statement (A) and Statement (B) both are

incorrect.

(4) Statement (A) and Statement (B) both are

correct.

(5) Question not attempted

- Which disease in silkworm is not correctly

matched with the causal organism?

(1) Pebrine-Protozoa (2) Polyhedrosis—Fungi

(3) Maggot-Insect (4) Green muscardine—
Fungi

(5) Question not attempted

favours the ™
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67. 591 a1 v & yaw (®fem.1) &1 IuD

fafme ceTvIg S UK / IeTexuy (®fers-11) A
gafers & N9 fow 1y we @ gy @ w@
IR BT YT B —

wfed-1

@ B &1 yeR)

. (A) RE SH =g i

(B) 9T Jderat
(C) w1y gderen
(D) fge = ==y o
HicH-11
(CTeToTRd) AU / SETEXT)
(i) 15:1 (SMERVT : AHS TN ¥ 41 wHgfea)
(ii) 9:3:4 (S<TExvT : A H THIERYT / PIE BT )
(ifi) 12:3:1 (STTERT : TR W | Bal &1 )
(iv) 9:7 (S<TERVT : Te—dr # 4T o)
EBE =,
() (A)-(Q), (B)-(ii), (C)-(iii), (D)-(iv)
(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(1)
@ (A)-(iv), (B)-(ii); (C)-(iii), (D)-(1)
() (A)-(iv), (B)-(iii), (C)-(1), (D)-(i1)
(5) IrgaIRa we

. PrefefReg wuFl R R I g Ry

e § ¥ HE SR B I9I9 DY —

FUA (A) : BISIOH MIF Arsdl ¥ gig

AdfrNEErafed & faaes @l
gorar <dl 2 | '

HUF (B) : HH SifdiIoT d9d W)
ITRNEARANSA, gl HI
JrgaReIfay & gerr § el
SuRerfar ¥ arferes aot & faafea
SESIGIR

V(1) HUF (A) T ® IR B (B) Wel B |

(2) H (A) T8 & 3R B (B) Tod B
ABY B (A) AR B (B) 31 T & |
(4) P (A) 3R B (B) A1 WET 2 |
(8) argaRa e

69 Y3 e F P T SED MERS D GrA

ghfera 8T 87
(1) YgTgT-weraR
(3) Hjfe—aIe

(5) argeIRa u¥

(2) dieiegIiRra—was®
(@) 7 FepIfSA—Fad
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41. Consider the following statements in context to 4. ¥Refl 3R aRRel qaif & weeof 3 Fy=fafad
the conservative and non-conservative forces - dorel u¥ fagr #ifsre —
(A) A force is non-conservative if it causes a (A) afe 18 adt #if3es FHui g & uRads a3l
change in mechanical energy E. &, dI 98 dof e 8iar 2 |
(B) The work done by a conservative force (B) fa WReN aa1 gy fom ar w14, 99 94
equals to the negative of the change in the d & Refrsr wul 4 ge oRadd @
Potential energy associated with that force. FOMHE & AR BIell 2 |
Select the correct answer using the code given W QY 1Y ®e &1 SuAnT wE GE IR @
below - a9 BT —
Code - az‘? =
(1) Both (A) and (B) are not correct. (1) 7 @1 (A) iR =1 & (B) |&1 2|
(2) Only (B) is correct. &) Padl (B) 981 &
(3) Only (A) is correct. (3) Bt (A) WE 2|
(4) Both (A) and (B) are correct. () T (A) 3R (B) OET £ |
(5) Question not attempted (5) IR U
42. A particle of mass m is placed - 42. M m BT Uh P @1 7T & —
(I) inside a uniform spherical shell of mass M, (D) Z&HE M & THIAE NAThR DI $ ey,
but not at the center. Wb by IR T8 |
(1D) inside a uniform spherical shell of mass M, (I) &AM M & THHAT TellbR SIEl & e,
at the center. D5 WX |
(IIT) outside a uniform spherical shell of mass M, () S&FIE M & THEAE TAThR BT &
at a distance r from the center. qER, dg A r W W |
(IV) outside a uniform solid sphere of mass M, (IV) S HE M & UHHHE 8N Tl & dTex,
- at a distance 2r from the center. : Dg H 2r A W
Rank these situations according to the magnitude 31 Rl &1 391 W oy g1 @ afRkemor
of the gravitational force on the particle, least to P ATAR HIH BH W G AW g6 HEAd
greatest. N —
W
(1) (D, (ID, (1), V) (1) (D, (1), (1), (IV) | e
(2) Equal on all (2) ¥ w® FHE
(3) Equal on (I) and (II), then (IV), then (III) 555;[1) 3R (I ™ w9H, v (Iv), = ()
(4) Equal on (I) and (II), then equal on (III) and B0 SR (D) w® FEE, R @) SR qV) w®
(Iv) HHH
(5) Question not attempted (5) eraRa wee
43. Moment of Inertia of a thin uniform rod rotating D5 A YORA drel dgad &7 @ gRka: gl
about the perpendicular axis passing through its B U Udell UhaH B Pl oS GITT'T I
centre is L If the same rod is bent into a ring and | Ofe S o B UF TIg B w9 H HSI
its moment of inertia about its diameter is I', then__ T AR e @ @ uRa: W Ml I
the ratio I/I' is - 8, Tl 31T UI'® —
() (2)n2 @ (3)n? M (3)w? @ (2)n?
3) G) n? (4) @) m? 3) @ 2 (4) (%) 2
(5) Question not attempted (5) IgaRa weA
e 3
03 - v =
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9. Consider the given statements and select the
correct answer using the code given below -
Statement I : High activation energy favors

faster reactions in the absence of
enzymes.

Statement II : Enzymes act by decreasing the
enthalpy change (AH) of the
reaction.

Code -

(1) Both statements are true.

(2) Statement I1s true, Statement 11 is false.
(3) Statement I1s false, Statement 11 is true.
(4) Both statements are false.
(5) Question not attempted
10. Find out the incorrect statement about cleavage -
(1) Growth of cells after each division
(2) Holoblastic unequal cleavage in Frog
(3) Superficial meroblastic cleavage in Chick
(4) Rapid DNA replication and cell division
without growth
(5) Question not attempted
11. Wolf and Tasmanian wolf are examples of -
(1) Divergent (2) Micro Evolution
Evolution
(3) Adaptive Radiation (4) Convergent
Evolution
(5) Question not attempted
12. Consider the following statements about ori site
of a cloning vector and choose the correct
option —
(A) Ori is a sequence from where replication
starts.
(B) Ori is a sequence not responsible for
controlling the copy number of the linked-
DNA.

Option -

(1) Both (A) and (B) are incorrect.

(2) (A) s incorrect but (B) is correct.

(3) Both (A) and (B) are correct.

(4) Only (A) is correct and (B) is incorrect.

(5) Question not attempted

13. A human female with Turner syndrome -

(1) has one additional X chromosome,

(2) has 45 chromosomes with XO condition.

(3) is able to produce children with normal
husband,

(4) has one additional Y chromosome,
(5) Question not attempted

9.

. ".
e
o s

"
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fay 10 wert uv faam &v A fay 1o e B

SYANT A W G B AAA Hifro —

BT 1 : Jea Afho71 Hutt Uzt 4 sty
g efrg afafdand &1 gfa swh 2

YT 11 : Uorrgn, Affear &1 vgeh ufigds
(AH) @1 BF &35 &1 &g |

T ..

(1) gl ®ore1 44 & |

(2) @wor 1 9cd &, &9 1 FHA 2 |

(3) ®or1 [ argal 2, - 1l 4 2|

A8t B a2

(5) araRa ue

10. fyeaq @ an o I AT Bl qd137 —

11.

12,

13.

(1) g faare @ 9vard BIRieRl o] gia
£2) Hzd § qubioll sraa g
o 3 ) st e

(@) &g drae wfagfa iR @1 gfg & S

CRINE
(5) arqalRa e
Afear 3R TEntarg Af$ar e
frarmar Sfedra & (2) wes1 sfaarE &
(3) srgaen fafdyor & (4) sifvard sfgers @

(5) sraiRa weA

AT AES & ori W & Ay § 977 d]

@I Ygar el fawey gfig -

(A) 3 (ori) TP IIHH & Sal | Hfafemas<ol
TR BT & |

(B) 3N (ori) T 31hH & Sl Hag—SITA0 &
e 2

fase —

(1) (A) wd (B) T TTerd & |

(2) (A)Tera & @fds (B) el 2|

(3) (A)vd (B) Tl we & |

@ae (A) w8 ® 3R (B) eld ¥

() argafa ueA

ek Rigm @ ufa wHa wer -

(M % & sfaRaw X qurE dar €

A2y ¥ 45 oREEHE XO Rfd 8xedl 2 |

@) = ufy @ g ST B wEa) 2

@ % v afoaRad Y qoRE & 2

(5) argeRal e

Ee
=
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29, The electronic conf 1
i t contiguration of five clements are 29 i el @ woacifa f
A] 152 24 g » gaagife s fa R
[B] 1s* 2¢° 2111 [A] 187 27
|C] 157 2§ 2p* [B] 1s% 257 2p!
D] 1s2 2¢2 211“ [C] 15 25% 2p°
[E] 1s* 287 2p* [D] 15 25 2]]:’
" . ‘ o [E] 1s? 2s% 2p"™
:::::;::;rf:. t‘il’dtl" of {irst ionization Clllhill])ic.\' of E:;{"ﬂ ;m up_];[‘ AIRTT+T '\’"}Ic"(‘n @B HIFT Dl el H
1 "
e
i Tl 2 ic s <|Cl<|E] (2)7|A|<|I3|<[|).|<|(.-|<||‘4|
ICl1 < [E1< (D] W[I;|<IAI<I(-]<II=]<IDI
(@) [E] <[D]l<I[C)<IB]<IA] (4) |1i|<|l)|~¢lCl<IBi<lAI
(5) Question not attempted (8) argaiRe w¥T
30. Which one of the following reaction is an 30 Prafafaa § 9 P s AL
example of disproportionation reaction? arffrar @1 Sarexl &7
(1) 2F(g) + 20H(aq) ~ 2F(aq) + OF2(e) + AV 2Fy(g) + 20H7(aq) = 2F-(ag) + OF2A8) ¥ F
H20(1) o2

H20(1)
(2) 2H.0(1) + 2Fa(g) ~ 4HF(aq) + 02(g)
(3) Cla(g) + 20H (aq) ~ ClO™(aq) + Cl(aq) + *

(2 2H,0() + 2F2(g) ~ 4HF(aq) + 02(8)
1 G Clag) + 20H (aq) ~ ClO™(aq) + Cl(aq) +
T H0()

H-0(1)
(@) Cla(g) + 2Kl(aq) ~ 2KCl(ag) + 12(5) (@) Cla(g) + 2K1(aq) - 2KCI(aq) + ()
(5) Question not attempted (5) areRa T
31. How many 2p atomic orbitals of boron 31- BF;¥ SMaer iR PETp] BT A & forg AR
participate in hybridisation to form the bonding & fpd™ 2p URATY] HEID HepxoT | T o 27
hybrid orbitals in BF3?
(1) One (2) Three (;) i (? I
(3) Zero @) Two : By @ <
(5) Question not attempted | (8) SrgaRa we T
32. Consider the following statements regarding the 32 smyfie s aroft @ wed A fy=fafEd |
Modern Periodic Table - . FAT R R g — ‘
(i) s and p-block elements together are called (i) s AT p-<AH D edl @1 |l w9 W ;
fireus ovd Hed © |

Representative Elements.
(ii) Among Mg, Mg (g), A**(g) and Al, the (i) Mg, Mg (g), AP*(g), Al 3 A arfrepan
IR arel wiefist Mg 2|

Jargest species is Mg.
(iii) The electronegativity generally decreases in (iii) TP amad W ¥ o N
a period from left to right. ks 8

Choose the correct statement/s - TE BAT /Bl BT AT DY —

(1) Only (ii) (2) Only (i), (iii) (1) @aa (iii) @) a (i), Gii)

@ only@. G @ Oy & AT ), Gi) @ DA (D), (i) |
not attempted (5) argaRa e ' |

(5) Qucstion

03- 3¢
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33. Arrange the following carbocations in increasing
order of their stability -

S 52 ® &
(CGHS}BC' (CH3)3C. CH;‘CH:. CH3

(1 e o
(C.H,),C < CH.< CH)—?H:< (CH 1}3?
&) e & ®
(C¢H,),C<(CH,),C< CH - ?H : < CH,
Q) e @ ®
CH < CH;CH, < (CH;); €< (CH,),C
(4 ® e & ®
CH;-CH, < (C.H,),C < CH, < (CH,),C

GET IT ON
Google Play

33. fy=faRaa wru=TI= o S5 wenfia @ d9ed
H § arafea Ao —

® ® ® @
(C4H,),C. (CH,),C, CH+CH,, CH,

(1) ® @ @ @
(C,H,),C < CH, < CH-CH, < (CH,),C

(2) &® @ ) @
(C¢H,),C < (CH,), C < CH,~ CH, < CH,

A5F® @ @ o)
CH,< CH;CH, < (CH,),C< (C,H,),C

(4) o) @D ®
CH;-CH, < (CH,),C < ?Ha < (CH,;),C

(5) Question not attempted (5) IrgaRa we
34. The correct [IUPAC name of given compound 34. f2u v Aifis w1 TEl TUPAC 9 8 —
is - NO
| >
"W

C,H;

(1) 1-Iodo—4—ethyl-2—nitrobenzene

(2) 4-Ethyl-l1-iodo—2-nitrobenzene

(3) 1-Ethyl-4—iodo—5-nitrobenzene

(4) 1-Ethyl-4—iodo—3—nitrobenzene

(5) Question not attempted

35. Consider the following two statements — -

Statement I : Greater the charge on the cation,
greater is the covalent character
of the ionic bond.

Statement II : Partial covalent character of ionic
bonds may be explained with the
help of Fajans’ rule.

Choose the most appropriate option -

(1) Statement I is false and Statement II is true.

(2) Both Statement I and Statement II are true.

(3) Statement I is true and Statement I1 is false.

(4) Both Statement I and Statement II are false.

(5) Question not attempted

36. A block of mass lkg is at rest on a rough
horizontal surface having coefficient of static
friction 0.2 and kinetic friction 0.15. Find the

' C,H, 3
MY 1T 4-TRE-2-ARE 8 o
(@) 4RI 1T 2— TS w1 ‘
@) 1-TRIE—4-3TE-5-ATEE =T
(@) 1-TRA4-3TSI-3— TSI
"~ (5) rgaRa weA
35. fyfeRag <) doFl R AR P —
H [ : 9 TR AT de | IS ey
& gl der # gl &
HYF I : Iafd el & 3 R ERSEISI
EToT @Y fad==T BT (Fajans) &
g @) GErar 9 B W1 gadl 2 |
waiftis Suga fAewed &1 aa9 Hiford —
(1) P 1378 & IR &Y 9 T |
(2) HUF [T HUF NS I & |
(3) U 19T & IR F9F 3 B |
(4) B 192 HUF M EHT 3 & |
(5) rg=iRa ue
36. v fhall SoaAE BT Udh AP P GRaY
gfoa a1, oraer ©ifde g¥or one 0.2 T
T =Yo7 o 0.15 8, IR ReR s@wen ¥ 2|

afe @ifes W TF &Afst 96 F =1 N RIud

frictional force if a horizontal force F = 1 N is X2

applied on the block - -1 farar g A =T 9w T A fear Bmm?
F b F
1kg 1kg
(77777777 T T Y ST
(M 2N (2) 1.96 N (1) 2N A25°1.96 N
(3) Zero (4 1IN ) = (4 1IN
(5) Question not attempted (5) IrgaRd W¥T
03 - ‘ﬁ' Page 11 of 40



https://applink.adda247.com/d/XhqWf9lSap

Adda2417

48. For the network of identical resistance (each R)
shown in figure, the equivalent resistance
between terminals A and B is -

(™ SR @ 3
3) %R @) 2R
(5) Question not attempted

Light is incident normally on the short face of a
30°-60°-90° prism. A liquid is poured on the
hypotenuse of the prism. If the refractive index

of the prism is V3, find the maximum refractive
index of the liquid so that light is totally

49.

reflected -
(1) 1.73 (2 15
(3) 1.33 4 1.8

(5) Question not attempted

50. Two vectors lie with their tails at the same point.

When the angle between them is increased by
20°, their scalar product has the same magnitude
but changes from positive to negative. The
original angle between them was -

(1) 90° (2 60°
() 80° @ 70°
(5) Question not attempted

Which floral formula belongs
Asteraceae?

N
(1) Br @ f Kpappus CSA(SJ (_39

PR e
Ci5) A5) Gy

51. to family

@ Bro ¢ K

~
@) Bre f K pappus C(s) A(5) G2

(4 Bro § Kplppus Cs) A; G,

(5) Question not attempted

50.

GET IT ON
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48. forzt % yefia wdww uferterat (e R) & STel
& fog, RRTA @ B &

rﬂ('gzrgmqfému‘é’—

@ AT UH 30°-60°-90° fUsH & ©Bid $odd W

Hfderead w9 ¥ mufad gr g | fivd & 3o
R UF gd Siell Wi 2 | afe U &1 e
V32 al ga & siffipad AYaaHid S HIFT,

aife uepTer gul wU ¥ WRrafid 8l g —
(1M 1.73 (2) 1.5

(3) 1.33 (4) 1.8

(5) g weA

Ty afes @ B ORMS fa%) & & fdg =
Rerg 2| 919 S €9 BT BT 20° ¥ ger faan
ST 8, < S0 AfQe YUFTHS BT aRETT HHE
X&dT 8, oifhd g9TdHS A FROMHAD H gqal Sfidl
& | 9% Hed A DIV AT —

(1) 90° (2) 60°
®3) 80° #8Y70°
(5) sralRa weA

@aﬁﬂwgﬂqaﬁq@@@ﬁﬁﬂﬁ@ﬁ%‘?

-
! (1) Bre f Kpappus Cs A[S) G

2)

Y alinn, CHNNSIS.
(2) Br@f K Cis) Ais) Gy

pappus

V.
@) Bre f K pappus C(s) A(s) G2

(4) Bre é'Kmm Cis) As Gy

(5) 313ﬁﬁa PG|

03 - vy
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14. Select the incorrect

: statement regarding 14 HECIBIf~gTT & TR H Tag bUA P AUA
mitochondrion - HY ~
(1) The inner membrane forms many infoldings (1) 3raRe fireell @3 efdaes a9l 8 o=
called cristae. e @1 S 2|
(2) The mitochondrial matrix contains a single () "ESiftgga #fgan # e yda adaTaR
circular DNA molecule. SITY 379 el |
(3) The mitochondrial matrix possesses 80S B) AEeitgad #fge d 808 wsdrErd B4
ribosomes. g
(4) The inner and outer membranes do not have @) aRe iR aed Bifceat % doAr @
identical sets of enzymes. _ THIHE ST T8l Bl © |
(5 Question not attempted ‘ (5) rgiRa g2
15. Conslider the following statements about @ ?:Ic"cﬁﬁ?ﬂﬁ?ﬁ BT fBreetl @ ax ¥ = syt
eukaryotic cell membrane - b . 4 R @R By —
(A) Active transport is the only mode (A) foreell @ IR A &g Gfsha T TEaTE
} of transport across the membrane. T =4
(B) Phospholipid tail is made up of only the (B) BEpifdiiie gz Had W BIESIHEA
unsaturated hydrocarbons. / ¥ g B 2

(C) The amount of protein in the plasma /'~ o o SRR BT B BT R

membrane of human RBC is less thanl that

of the Tipid ¥ IS B A 99 9 FH Bl §
S. A .
(D) Cholesterol is a universal constituent of all (D) preTtet Wl 12 ‘I\E e e fefeeri
eukaryotic cell membranes. GARLIER m il g}
Which statements are not true? BT P FE T T
(1) (A),(B)and (D) : (2 (A)and (D) 1) &), BID). @ A)3ID)
@ @), ©and®) @ @, B, © ad @@ IO @ W)®.OT D)
_ D) v
(5) Question not attempted (8) srgaRka ue i ;
16. Consider the Assertion (A) and Reason (R) and  16- 3iff@er (A) 3R PR R) W faR PR 3R
choose the correct option from the code given i g e o ¥ 9§ wE e g1 -
below - AMFE (A): S UleTAvST aTUReR & 3 39
Assertion (A) : Tag polymerase is thermostable %_ﬁ'ﬁlﬂ"rr frar o7 3 & |
and lacks proof-reading activity. BRI (R): &5 UieiRet # 3'9 5 QWW
Reason (R) : Tag polymerase possesses 3' to 5' N L

exonuclease activity.
Code -

(1) Both (A) and (R) are correct and (R) is the

a?:\?._
ATA(A) 3R (R) TFT & & R R), (A) D

- correct explanation of (A). el e B
2) (A) is correct but (R) is incorrect. @ (A) W& & W (R) 7Tt 8l
(3) Both (A) and (R) are correct but (R) is not @) (4) 3R R) <l W@ E ST R), (A) B
the correct explanation of (A). A e T E |
(4) (A)is incorrect but (R) is correct. (@ (A) TeId 2 AT (R) WEl &
(5) Question not attempted -~ (5) IR U

w03 - "I’»‘i’ Page 5 of 40
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20. Match the Plant Groups given in Column-I with ~ 20. gfaw—1 A Ry MY urey a9el #7 Brem—11 3§

i

21.

their Characteristic Features in Column-II and

select the correct answer using the code given
below -

& ¢ gad e fadgael @ gt @<
9 Ry g Fe @ T TR BT AT B —

BicH—1
Column-I (@< WIE")
(Plant Group) (A) BufemiftasT
(A) Hepaticopsida J@ (B) TURRIEItEST
(B) Anthocerotopsida (C) aTaeEST
(C) Bryopsida (D) eRfeTeT
(D) P}eropsida BreaA—II
Column-1I (faftre faean)

(Characteristic Feature)
(i) Presence of stomata in sporophyte

(i1) Sporophyte has a basal meristematic region
(iii) Gametophytes thalloid or leafy with
rhizoids

(iv) True roots, stems and leaves present in

sporophyte
Code -

(M (A)-Gii), (B)-(iD), (O)-@), (D)-Gv)
(2) (A)-Gv), (B)-(iii), (C)-(ii), (D)-(1)
B (A)-(), B)-Giv), (C)-(ii), (D)-(iii)
@) (A)-(1), (B)-(iD), (C)-(iii), (D)-Gv)
(5) Question not attempted

Which one of the following compound is not

(1 ‘ (&)
@) @@ @)

(5) Question not attempted

aromatic?

. The number of moles of methane required to
produce 44 g of CO2 (g) after combustion is -

() do-SiEg # S SuRefd

(i) M-Sy ¥ MM fvsaaeg &4
BT

(i) VESigsd gad Jgs AT UTiER
TS _

(iv) Seomo—siEg ¥ SuRed aafds W, T
3R ufrt

- |

(1) (A)(ii), (B)-(ii), (C)-@), (D)-Gv)

(2) (A)-@iv), (B)-(iii), (C)-(i1), (D)-(1)

@) (A)-(@), (B)-(iv), (C)-(1), (D)-(ii1)

@) (A)-(), (B)-Gi), (C)-(iii), (D)-(iv)

(5) Sr<Rd U

- Fr=faRea ¥ 9 o= Aifre Wifes =21 87

@
@)

) @@
@) @@

(5) arg<IRa WA

-Eﬁzﬁqﬁﬂﬁugcoz(g}maﬂ%tﬁﬁq

AT B AAIGD Al DT G ' —

(1) 1.0 mol (2) 1.5 mol 1) 1.09< (2) 1.59<
Y (3) 0.5 mol y (4) 2.0 mol (3) 0.5 79 (4) 2.0 91
% (5) Question not attempted (5) argaRa wed

T3
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23. fp=fafad Sopavita afifrar @ AR IS

23. i :
Consider the following reversible reaction which

is at equilibrium -
e iy S o AT § g -
»(g) = N,0,(g); AH = —57.2kJ /mol
(Brown) (Colourless) 2”?;3(8) = N,04(g) ; AH = —57.2 kI/mol
Consider the following observation/s regardi i ) i
garding Swfw s s et 3 frefafEd
above reaction - . i W:T
(a) On decreasing temperature, intensity of ﬁ&?ﬂT/ftﬂUﬁ\ i N EGL gedl 21
brown colour decreases. @HTEI . R R S|
(b) On increasing pressure, more N20s (g) will 9’) L HGT;I = S foRi@ @1 A
be formed. (o) @ TG B Wi WA
(c) The value of equilibrium constant decreases Tredl €1
as the temperature increases. |E fawea 1 997 T —
Choose the correct option - (1) @ad (b) qer 2 |
@) (a), (b) 3R (©) i 9T & |

(1) Only (b) is correct.
(2) All (a), (b) and (c) are correct. (3) Bac (a)aﬂ?(c)'ﬁﬁ 3

(3) Only (a) and (c) are correct. ﬁ i J&/m (b) 3R (¢) e & |

(4) Only (b) and (c) are correct.
(5) Question not attempted ) aﬁﬁﬁa a
24. Total number of node/s for 3d orbital is/are - 24, 3g e @ forg /A BB el
(1) Three (2) Two §/¢ - @ =
(3) One (4) Zero g ;ﬂ; @) =
(5) Question not attempted (5) :ﬂﬂﬂﬁﬁ g
‘ i @1 Prer-11 H

25. wfem-1d &1 T8 d@icH A&l
ﬁqwaﬂ?ﬁwmﬁﬁ @ ur gAferd

25. Match the Quantum Numbers in Column-I with

the corresponding Orbitals in Column-II -
Column-I Column-II P —

(Quantum Numbers) (Orbital) Biceri-1 ieH-11

(A)n=2,1=1 () 4s  (qEicH HEAW) (1)

(B)n=4,1=0 (i) 2p @An=2,1=1 @ 4

(C)n=5,1=3 (i) 3d B)n=4,1=01 () 2p

(D)n=3,1=2 (iv) 5F (C)n=5,1=3 (iii) 3d
D)n=3,1=2 (iv) 5f
8 fAded &1 T Do) —

Select the correct option -

(1) (A)-(iv), (B)-(ii), (C)-(i), (D)-(ii)
@) (A)-Gii), (B)-(i), (C)-(iv), (D)-(iid)
(3) (A)-(ii), (B)-ii), (C)-(iv), (D)-(1)
@ (A)-Gii), (B)-(i), (C)-(0), (D)-(iV)
(5) Question not attempted

(M (A)-(iv), (B)-(ii), (C)-(1), (D)-(iii)
42 (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)
() (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
(@) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)
(5) IrgaRa wed
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26. Match  the 26. pic-1 (Brggibrd-l @ afafarg) @i bierd —

Column-I (Reactions

T 03

27.

of Hydrocarbons) with

» Column-11  (Type 11 @ffpar & yeR) § gafea #fg —
of Reaction) - T
DictH-1
Column-1 (g]g@zmﬂ:ﬁ | @& arfafdan)
(Reaction of Hydrocarbons) Cr,O
: (i) n—C4H,,—223 3 CH
@ n-CH, 2% ¢, "Mk T
773K 10—-20atm
10—20 atm . Pajc
(1) CH3—C=C—-H+H g CH;— CH = CH (i =e=c _]I;I il e =
3—C=C- 2 — CHy— CH = CH, e
. (iii) 3CH=CH —— C.H
(iii) 3CH=CH —< C.1, ) 873K
s 873K (iv) CHa+ Oz - C(s) + 2H20
iv 4+ 02 = C(s) + 2H,0 DioH-11
Column-I1 (rfafsear &1 gaR)
(Type of Reaction) (a) 3rif3red q=aa—
(a) Partial Reduction b) TR E‘W :
(b) Cyclic Polymerisation ( ET‘fﬁ =8
(c) Incomplete Combustion e WW
(d) Reforming - (d) .
Choose the correct code - %1‘?’ Wl e -

M (-(d), (ii)-(a), (iii)-(b), (iv)-(c)
(2) (1)-(b), (i)-(d), (iii)-(a), (iv)-(c)
@) (1)-(a), (i)-(b), (iii)-(c), (iv)-(d)
@) (1)-(d), (ii)-(b), (iii)-(a), (iv)-(c)
(5) Question not attempted
Arrange the following acids in order of their
increasing acid strength -
HF, HCl, HBr, HI

(1) HF <HCl < HBr < HI

(2) HBr < HI < HCI < HF
(3) HI < HBr <HCl < HF
(4) HF < HBr < HCI < HI
(5) Question not attempted

- The method used to purify liquids having very

high boiling points and those which decompose
at or below their boiling points is -
(1) Fractional distillation

(1) ()-(d), (iD)-(a), (iii)-(b), (iv)-(c)

A2-(1)-(b), (ii)-(d), (iii)-(a), (iv)-(c)

() ()-(a), (i)-(b), (iiD)-(c), (iv)-(d)
(@) ()-(d), (i)-(b), (iii)-(a), (iv)-(c)
(5) arg<iRa ued

27. frfoiRad arell @ 997 dgd g7 el |t

® B9 A walRed S —
HF, HCl, HBr, HI
(1) HF < HC1 < HBr < HI
<2y HBr < HI < HCI < HF
(3) HI < HBr < HCl < HF
(4) HF < HBr < HC1 < HI

(5) IrgaRa we

28. g fafr o W @@ & oM & for wgaa A

ST & e saEis ofy 9= 8 & ar o

AU FUAIH AT IYY W BH 919 UR Ivufed
B O § § —

1) U4qTS /METH
(2) Distillation under reduced pressure i
' _ ) (2) =1 q1@ WR ImHEA
(3) Differential extraction 55 frdY Prepdor
(4) Steam distillation (4) Mg 3rEaT
(5) Question not attempted (5) argaRa e
Bk ¢
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i+ %)/
= gl PP KO s arferdl
44. A force F = —K 3 i aive W g ), xy ¢
rce F = ~K(yt + xj) (where K is a pOs! FOKE] ) - fig ¥ g% () @ @
constant) acts on a particle moving in the X.Y el ol qel %F-Ifggy ferg (4.~ g (a, 2)
plane. Starting from the origin, the particlc 1* erArcI @ X el g @ A o o
taken along the posilive X axis to the p()inl (21, 0) GﬂﬂT g aﬁ-q ﬁ})dq Yg | Tﬂ ?]"(:f F
and then parallel to the y axis to the point (a, ). s Sran visl
article ¥ —
;Ish-e total work done by the force F on the partic aart Ezmzi 2 @ + K ; 1
1) —2Ka 4) + 2K4°
(1) - 2Ka? (@) +Ka? :3; o @
(3) —Ka? (4) +2Ka? o ged it TP GICES
(8) Question not attempted - _ kg amqﬁ cdl q& ) EI?'ﬁ G KIE]
45. A block of mass m = 2kg moves along a -m - g W RN fad 407
horizontal frictional surface under the action of 5 3| @dE qeor &P
the forces as shown in figure. The coefficient of , -0.20 2l FaT 87
kinetic friction between the surface and block is ﬂﬂ]laia‘?kﬁw N @I L1l
i = 0.20. What is the normal force N due to the WIO s IR
surface? (take g =10 m/s?) g= l F, =4.0N
: i lF3=4.0N ; . Fl _ 20 ON
= _ F =20.0N ° F, =80 —>
Fz = 8.0N ' 1 . é’-——" i -
¢ f T gV
f, v TN mg IN g +©
mg
: ~24 N "
(1) 28N 2 24N (1) 28N i |
(3) 20N (4) 16 N Y
(3 20N @ 16N ; o 7
(5) Question not attempted () 3|§Si L
i setd ML3Q 3 1} .
ML ; - MLG i L, sgHr
46. In the expression T = 2T —5%,2 , where Tis  46. 1@ T LN 4, ol T, T
ﬁmepcdodofabaroflengthL,massMand M@?WWYWW‘J@WWW
Young’s modulus Y, the dimension of the 2 qfT Q @ T -
quantity Q is - T (1) ML 2F ML
(1) MIL-3 (2) MOL q 7% o
1y 24 " (3 ML (4) M'L
3 ML (4 M'L
(5) Question not attempted (5) SrgaRa ued T
47. Two identical objects are placed in front of 47 <1 WdwH Ty, Sfadel UV AR I &Uw,
concave mirror and convex mirror having same e gshar oA 99E 12 cm €, © A
radii of curvature of 12 cm, at the same distance T ol @ gﬁ[ J T @ O
of 18 'cm from. the p(?lcs of respfectlvc MIITors. -,-,-:_.-;: $| agae <0 SR & by
What is the ratio of sizes of the images formed "] SRR AL . E.IEI Se ERE
by the concave mirror and the convex mirror? - (ATgt) BT T T 82
(1) 3 @2 M3 (2 1
2 2
@ 1 ) 2 @ 2 @ 2
3
{5) Question not attempted (5) arqaRa wem
S S AR
03- Pk ¢ Page 14 of 40 ho) -‘-2" me &,
. = 2 Yy !
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33 A \ i i
Inul.lgt‘ the .Inlluwmg carbocations in increasing
order of their stability - ‘

! ® ® @
(Cly),C (CHY),C, CHECHY, (D'n,

(M

@ ® ®

5 (CH),C<(CH ), C< CH ‘—((IT)H g <€P:|| ;
® ® ® ®

CH, < CH;CH, < (CH,),C< (CH,),C

2 ® o M
(( hll_\)l‘(-‘- < [‘ll ‘< (‘ll r‘(‘ll 3 < {(‘ll .]‘?‘.)

(4) ® ® @ ®

CHFCH, < (CH,),C < CH, < (CH,),C
(5) Question not attempted

34. The correct ITUPAC name of given compound

1S -
NO,

C,Hs

(1) 1-lodo—4-ethyl-2—-nitrobenzene

(2) 4-Ethyl-1-iodo-2-nitrobenzene

(3) 1-Ethyl-4-iodo-5-nitrobenzene

(4) 1-Ethyl-4-iodo-3-nitrobenzene

(5) Question not attempted

35. Consider the following two statements — .-

Statement I : Greater the charge on the cation,
greater is the covalent character
of the ionic bond.

Statement II : Partial covalent character of ionic
bonds may be explained with the
help of Fajans’ rule.

Choose the most appropriate option -

(1) Statement I is false and Statement 11 is true.

(2) Both Statement I and Statement 11 are true.

(3) Statement I is true and Statement 11 is false.

(4) Both Statement I and Statement 11 are false.

(5) Question not attempted

36. A block of mass lkg is at rest on a rough
horizontal surface having coefficient of static

friction 0.2 and kinetic friction 0.15. Find the
=1Nis &

frictional force if a horizontal force F
applied on the block -

LS F
1kg

&T7TTTT77
(1 2N () 1.96 N
(3) Zero (4 1N
(5) Question not attempted

GET IT ON
Google Play

33, 1.‘{1.“}'.|[!f|(| TR @) I wenfiied @ dad
w0 eraftera @fsg — |
o ® @ @
(C,H,),C, (CH,),C, CHyCH,, CH,
M

(2)

L Bh @ ® ®
(C,H,),C < Cl, < CH-CH, < (CH,),C

1 @ ® ®
(C,H,),C<(CH,),C < CH~CH, < CH,

4‘,31'5(}) ®

/ @ 9
CH, < CH;+CH, < (CH,),C< (C/H,),C
(4)

® ®
CH;-CH, < (CH,),C < %H, < (CH:,)E

(5) arfaiRa we
34.{%{q7111'€ﬁﬁ'ﬁﬁ"tﬁT'!‘lﬁolUPACW%—

2
I
(5
\«
' CIHS X
AV 14T -2

@), 4—Tfre-1 -T2~ g \
@) 1-TRR—4-3TreI-5S-ATggTai
(@) 1-TRIE-4-IMTATS-3— LT
“(5) argeRa e
35. Ryefefeg @ duAl R R Hitw -
Fo 1 : TR TR A e 9 IS Jae
& geaael @ev ¥ gfE S R
w11 : ATafE IEE B HifE FEdaron
ey o1 fadeET BT (Fajans)'fi?
w9 TR | B S bl € |
m‘dﬁiﬁmﬁﬂﬁﬁlﬁqmwaﬁm—
(1) P 139 & R B | |
(2) o T FeF N 3H & €1
@) T 16 £ AR T 1139 &)
(@) P L FUF I EHT 3R € |
(5) IR T
36-@ﬁﬁhﬁmmﬁmwﬁm®@
Aot 7, e Wie o s 02
v T T 0,15 8, TR ReR el ¥
1 af @i N @ afds ad F=

(1) 2N

(3) T
(5) IrgaRd

-

————

N,

i~
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‘)gi‘;p lf{?]llt]s); ds]iﬂz pigments, Cholesterol,
(2) Bn . nd Traces (.)f nu&_:leases
» Cholesterol, Bile pigments and
- Phospholipids :
() Bile salts and Cholesterol only
(4) Bile salts, Cholesterol, Bile pigments and
Traces of nucleases
() Question not attempted
6. Which of the following Sanctuary/National Park
is the primary location in Rajasthan for the
conservation of its State Bird?
(1) Desert National Park
(2) Tal Chhapar Sanctuary
(3) Kumbhalgarh Wildlife Sanctuary
(4) Todgarh Wildlife Sanctuary-
(5) Question not attempted
7. Consider the given Assertion (A) and Reason

(R).
Assertion (A) : A species can occupy more than
one trophic level in an
ecosystem.
Reason (R) : Trophic level represents functional
level in ecosystem.
Choose the correct option -
(1) Both (A) and (R) are individually true and
(R) is the correct explanation of (A).

(2) (A) is false but (R) is true.

(3) Both (A) and (R) are individually true but
(R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

(5) Question not attempted - _

-~ Water moves from plant cell ‘A’ to ‘B’, when -
(1) the cell ‘A’ has higher water potential than
(2) both cells have equal water potential.

(3) the celi ‘A’ has higher osmiotic pressure than
‘B’ . |

(4) the cell ‘A’ has lower solute potential than
‘B’.

5) Question not attempted

-

5,

'Ry Y afEmeE (A) @ik BROT

&

GET IT ON
Google Play
EAR L)

o ¥ e & —

- w@o, R i,

@ fa oaw, PRl frg aofe
Brepifed

(3) Bact =T Travr vd Prergtar

@ 9 @@, Frrel fig quis  Ud
fFTTORT @ afyr

() argaRa e

FrefeRed % = @i errrva /<o wam,

wmmﬁmqﬁrmwaﬁzﬁmmzﬁﬁq
s Tere 87
47 S5 A9 U

(2) a1t BIR snRUY
(3) BHerTe T ol SRy

-(4) CIeg TSI IR

(5) rgaiRe wem
R) w foar

DI |

AfB (A) : T TIRdT § T Wy s W

e
PR (R) : UINS W,91RGT F Brafeis wr
BT TEfHT Hvar 2|

el [dwed o1 a9+ Sifew —

(1) <FF (A) 3R R) 9o/ w7 F W& £ aiR
R), (A) BT & WG T |

@) (A) 7o ® =g (R) 9 2}

IR (A) 3R (R) P ®9 W W ¥ v
(R), (A) BT & WETHRT T 2 |

@) (A) ¥E & R R) Tord &1

(5) e we

Ul UIRT B PR A’ Y B A wmer R

'G-IE[_

(1) BIR@T ‘A’ # B’ & Toim § N1 o
fova grar 21

(2) ST PIfRERT ¥ THE Sor 99 Bar &

ﬂaﬁﬁm{ ‘A’H B’ @ T H SATET TRTERYY
q19 BT B

@) PIf@T ‘A’ ¥ ‘B’ B gor ¥ B9 Rog
forrg BT 7

(5) IR we

kg
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Consider the situation shown in figure, The force 37 famr & waRid aRRerfd

g faar @ | 7 F,
of THIC ETSIHA

F is eque T8 18 ke .
- 8 c\qn_ll o= It the area of cross section of Mg & ek afe arR @1 s g A A
W 10 LV N r [ L
i t \‘\m. 18 A and its \ oung’s modulus is Y, then Az 2 goyr g AT e Y E
e strain developed in the wire is - fapfy & - )
(Wire is light and there is no friction anywhere) (R wopT & Tl ol o T ¢
F F
€—m, <«m,
=
(1) mag(@my+m;) (2) mag(2my+my) (1) Mw (2) Pj;g%
AY (my+m;) 2AY (m,+my) AY (my+m2) . (m 1'*‘2""2)
. (3) mag(my+2ma) (4) mag (m;+2ms) (3) mag (my+2mz) (4) DB o=
AY (rfll*mz) 2AY (m,+my) TAY (mg+mz) 28T, (RS
(5) Question not attempted (8) s T afiyeper 3R PR
- Read the Assertion and Reason carefully for 38. gq B HfAP I @ ferg :
cap}ilar)' rise of liquid and choose the correct @I EZ]T'_*ITfj-"ﬁ 7 3R wel famed ?\ﬁ B
option - o rard 9 DR AWl DI
Assertion : When a capillary tube of insufficient ' el 79 A gdrar Sirdr 2, d &9
length is dipped in a liquid, the : freperdT
liquid does not overflow. . el 'm Tt # 59
Reason : Product of radius of meniscus and . qadgd @I Al 3
2 s BT UAHE A ReR &l

39.

40.

03

height of liquid in capillary tube

- always remains constant. ) =4

oth Assertion and Reason are true and the : FHROT
Reason is the correct explanation of the o 3R PR SN SN
Assertion. Sifyper & T AR € |
(2) Both Assertion and Reason are true but 2) afrEerT 8k R &l 9 & oifdht BRI

Reason is not the correct explanation of the PPy @1 gel ARl 81 21
Assertion. e ST AT

(3) The Assertion is true but Reason is false. ::; %ﬁ > ?ﬁ;jm i g ;
(4) The Assertion is false but Reason is true. SD e |
(5) Question not attempted : (5) IrgTRT 9T
A particle moves along a straight line OX. At a ' T BT U@ el X1 OX & IS fy Bl
time t (in seconds), the distance X (in meters) 2l O t W BUT B fag O 9 ¢ x &4
of the particle from point O is given by - e & Ot B — L )
x(t)=40+12t—t3 X(Q=40+12t'_t3 4 dd__:\
How long would the particle travel before SEf t Qovs # T x Hiex # 8 fRm # =
coming 1o rest? F U=a U B BRI a9 @ TS g BN —
(1) 40 m (2) 24m (1) 40m : (2) 24 m
(3) 56 m (4) 16 m (3) 56 m (4) 16m
(5) Question not attempted (5) IR wed
A transformer has 300 turns in its primary coil @ﬂ* FrAEAR @ grRIfis Gl F 300 B TRn
and 75 turns in its secondary coil. When the fadhae gt ¥ 75 W ¥ o e s
current in the secondary coil is 20A, the current ¥ oRT BT HF 20A 2, @ wrifAe meei g
in the primary coil is - T A BT — >
(1) 80A (i) 25 A (1) 80 A (2) 25 A
(3) 5A (49) 60 A (3 SA 4) 60 A
(5) Question not atiempted (5) argeRer we
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75. During which phase of the sigmoid growth curve

is ll‘le Relative Growth Rate (RGR) at its
maximum?

gfE & (RGR) Afdaan zreft 27

(1) Lag phase (2) Stationary phase (1) o7 grazen (2) ®918 yraw=
(3) Deceleration phase (4) Log phase Q) feHeRe= wgzen  (4) &7 urgzen
(5) Question not attempted (5) srERa g

76. Which of the following correctly describes the — 76- fFr=ifeiRaa % @ &= ETC # afwasn 11
rolk of Complex 11 (succinate dehydrogenase) in (W%g'c' %amg‘mﬁv{) @1 BT B T avH
Bl 87

the ETC?

(1) Transfers electrons from NADH to FMN

(2) Transfers electrons directly to
cytochrome-C \

(3) Pumps protons into the intermembrane space

(1) NADH & FMN # gaagfi @1 weriafed

ik HRAl B

%@ T T DY TR <
(3) ﬁmaﬁwﬁrﬁrmﬁwm%

;- (4) Oxidizes FADH: and transfers electrons to 8y FADH, & 3ifdiigpd &xal & iR geiaei
ubiquinone 3 gRfFEAT d wEiaRa s=ar 2
(5) Question not attempted (5) 3rgaiRa ue

77. Match Column-I (Economic product or use) with 77+ @icrH-1 (anfefes TeaTg AT SART) BT BieA-1I
Column-II (Family) and select the correct option (@) ¥ faem &) vd A Ry T g |
using the code given below - 8 Aoy &7 TIT BN —

: Column-I Column-II " pfem-I PicH-11
4 (Economic product (Family) (enfefe ST ar (B fet)
) or use) SYIRT)
; (A) Castor oil (i) Fabaceae (A) 3RUS! BT A @) B
: (B) Fibre from Gossypium  (ii) Euphorbiaceae (B) Mf¥fazH I (ii) gHRATHT
: (C) Stimulant (Nicotine) (iii) Solanaceae (C) SEus () (iii)
; (D) Fodder legumes (iv) Malvaceae (D) BrSR o7 gH (TIR) (iv) ATTaAT
’ (E) Millets (v) Poaceae (BE) ficie (v) grg=r
Code - He —

78.

(1) (A)-(v), (B)-@), (O)-(ii), (D)-(iv), (E)-(iii)
(2) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv), (E)-(v)
(3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i), (B)-(V)
(@) (A)-(iii), (B)-(iv), (C)-(1), (D)-(v), (E)-(ii)
(5) Question not attempted

The symplastic pathway of phloem loading
involves -

(1) involvement of proton pumps

(2) transport through cell wall

(3) movement via plasmodesmata

() direct requirement of energy dependent

sugar carriers
(5) Question not attempted

(1) (A)-(v), B)-(0), (C)-(ii), (D)-(iv), (E)-(iii)
- AF(A)-(), (B)-(id), (O)-(iii), (D)-(iv), (E)-(v)

3 (A)-(ii), (B)-(v), (O)-(iii), (D)-(3), (E)-(v)

(@) (A)-(iii), (B)-(iv), (C)-(i), (D)-(v), (E)-(iD)
(5) IrgIRa weA

78. yoligy aifeT & RyeenRes uwa d affafed

2
(1) e g @7 Arierr
(2) IferRT AR g1 uRag=
& AEIH 9 i
4 STl PR TrRT aTEeT @) WeusT SaTadha

(5) srgaiRa ue

; 79. Pituitary gland is controlled by which part of the 79 ?ﬁﬁ Tfer wRass @ fa wr 9 Ffya Sid
brain? ?
(1) Cerebrum (2) Hypothalamus CrRass) (2 EUREHd
(3) Optic lobes (4) Medulla (3) gw—urferdt (4) Agen
(5) Question not attempted (5) Ir<IRT w¥
03-vx Page 21 of 40
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A force F = ~K(yi + xj) (where K is a positive oD &), ’_‘_y Gig 9 ge o () @ o STl
constant) acts on a particle moving in the Xy el 2 E ;'gf?rﬂ fdg (@ TF)F’ g (a, a)
Plane. Starting from the origin, the particle is o x e D e B gAY e
taken along the positive x axis to the point (a, 0) Sl & s ftb? }’g \ quv aa F
and then parallel to the y axis to the point (a, a)- qd o ol Sl
The total work done by the force F on the particle e T T g~ @ +Ka°
g4 1) 3](212 (4) + 2K32
(1) —2Ka? (2) +Ka? :3) :Kaz
(3) - Ka? (4) +2Ka? s g it T A
(3) Question not attempted i o = 2kg g DT Crr] goli @ 9919
45. A block of mass m = 2kg moves along 2 ' %ﬁ gdag ™ W & 7 NIRED HHT
horizontal frictional surface under the action of 5 wfarehie 2| |de g
the forces as shown in figure. The coefficient ?f i = 0.20 2| &7 A 2?
kinetic friction between the surface and block 1S & PR afer™d N
Mk = 0.20. What is the normal force N due to the W’@]O i N )
surface? (take g =10 m/s?) &= F, = 4.0N
. =8.0
F, =8.0N F, = 20.0N by iy —
| . \ JI, B L%
L f T =
i ‘l’ TN k mg i S
Tl A2y 24 N L
: i) 28N
(1) 28N (2) 24N :3; _— (4) 16N ™
4 N s -\'L'-__V
) 201 59 . 16 (5) 3raIRa ¥ g
(5) Question not attempted _ L VT W T I
| th ion T—Zn/m where T is 46, &0 T =21 |5 ﬁ,GIE’T'L@L-
| 46. In the: xpEsoteF e . W B ' o v e SIEREIIS
i i BS DI
i time period of a bar of length L, mass M and M IR T o Y v B
' Young’s modulus Y, the dimension of the g i Q @ fawr & —
| quantity Q s - et (1) ML 2 ML
(1) M'L? ‘f; 1\1‘::':4 { (3) ML @ m'L
(3 ML~ ( (5) srgaRa U= T
(5) Question not attempted : aire -
47, Two identical objects are placed in front of &7 < T TEY, Sy W ST AT T
. ;r;c;ave mirror and convex mirror having same GECA el ﬁwq 9 12cm 8 & 9EA
Cadii of curvature of 12 cm, at the same distance Hefdrd Uil @ gal | FAA QA 18 cm WX &
of 18 cm from the poles of rcsp.ectlve mirrors. ,,._.,.:: lij!%{' sraee adur iR Saer S99 8 i
| What is the ratio 'of sizes of the lmages'fonf:e‘i g el @ 3TATAT (ATEW) ST STUTT T 27
| by the concave mirror ar;;l)lhie convex mirror? 1):3 @) g
| it z (@ 1 @ 2
3 (6) arqaRa e
(5) Question not attempted -
R
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52. Which of the following option is correct in
reference to the earthworm?
(1) Septal nephridia are exonephric.
(2) Integumentary nephridia are enteronephric.
(3) Integumentary “forest
of Nephridia™.

(4) Pharyngeal nephridia are exonephric.

nephridia  forms

(3) Question not attempted

33. The type of placenta in which uterine cpithelium
and uterine connective tissue is croded and
chorionic epithelium is found in contact with
endothelium of maternal blood vessel, is called
as -

(1) Endothelio-chorial placenta
(2) Haemochorial placenta

(3) Syndesmochorial placenta

(4) Haemoendothelial placenta
(5) Question not attempted

54. The trichocysts in Paramecium are used for -

(1) Excretion (2) Movement

(3) Digestion (4) Defence and

anchorage

(5) Question not attempted

55. Which enzyme protects bacterial DNA from
cleavage by its own restriction enzymes?

(1) Helicase (20 DNA
methyltransferase

(3) DNA ligase (4) Exonuclease

(5) Question not attempted

56. In reference to sickle cell-anaemia which of the
following nitrogen base is altered in the gene
coding for beta chain of haemoglobin?
(1) Guanine (2) Adenine
(3) Cytosine (4) Uracil

. (5) Question not attempted

GET IT ON
Google Play

52, gy @ we Creferfae # & DI faare

uey &7

(1) wéra gaw, 4
(2) arezmaeoiia gabed,
@ armavoid CREED

g gabd Zr £

53. gz @1 98 HPR

S st & g (2) R @ ferg
(3) greA @ forw () =ar 3R IS D
ferq

(5) IrgaiRa we
55. YT Uorgd ARARAT D AT BT SHS A
& Ritgae ¢ongHl grT fadss & qamar 87

(1) gferag (2) dgaT
[ERIEE LT
DA TS () vagRe
(5) srgaRa we :
et st b forg i A ¥ FrerRa

W BT AR 4 aRafia Brar 27
(1) waifg 2) vRf '
(3) '\‘T[E‘c."‘ffﬁ':[ ’gjfmﬂ

®) srgaRa ye
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AR s a thin unitorm rod of length Loand mass
Moo A untform dise of radius “a’ and mass Ms i
fastenced at the end B of the rod so that the disc
and rod are coplanar. The centre of the disc is at
B (sce figure). The distance of the centre of dise
from the centre of mass of the combination is -

o5.

b W
(1) = 2) ——2
(3) —— i ez,
(My+M2) 2(M;+M,)

(5) Question not attempted

96. When a collection of two-level system is in
equilibrium at temperature To, then ratio of
population in the lower and upper energy levels
is 2:1. When the temperature is changed. to
T, then ratio is 8:1. Then -
(1) T=2To (2) To=2T
(3) To=4T (4) To=3T
(5) Question not attempted

97. The expectation value of any time-dependent
operator A(t) obeys the following equation -

M i 280) — (@), KON - in (42)
@) 240 — _([aqe), HOD +in (452
©) 5260 _ (A, HOD +in (%52)
= (4 oA _ _ i (2AE
Bz 520 = (A, HOD - h (220)
=317 (5 Question not attempted
is NOT

98. Which one of the following statement
true regarding Thermodynamic potentials?

g1, (1) The work done in a reversible isothermal

=T process is equal to the increase in Helmholtz

= X7
free energy.
o (2) The Helmholtz free energy remains constant
during isothermal isochoric process.
(3) For a reversible isobaric process, the change
in enthalpy is equal to the heat absorbed.-
(4) Enthalpy remains constant in_a reversible
isobaric adiabatic process.
(5) Question not attempted

GET IT ON
Google Play =

ég‘) AB Uk UGRITA YeTel) 9 2, 1SR ddrg Laen
qamET My & B a agr gamrE M, @ us
UdPI dabcdl Bg @ R 8 7 g9 USRS
2 Wi v aur aad) ve @ ad 4 & asd)
@ B BUR 2 (foa Q)| gl & e @)
U & F@HE by 0 g8 8 -
X &)

LM, LM,

1) ——
M (My+M;) (2 2(M+M3)
I'MZ LM;

) (M;+M3z) ) 2(My+M3z)
(5) srg<iRa yeA

96. S fgweR @Rl @1 g WUE Y To TR 9
H 2 a9 = i S Sl wWRl J SgeE
&1 IUIT 2:1 8| 99 @ gRafda grav T
®, 79 3urdT 8:18 | @9 —
(1) T=2Ty (2) To=2T
(3) To=4T {4Y To=3T

(5) SrgiRa ged

97. fopfy +ff GHI—IMf WHRED A(t) BT T AT

frferRac Wi o1 arer Al € —
M ;5 a(;im = —([A®®), H(D)) — i (a:(rt))
& iﬁ_‘j{git)) = —([A(t), H(D)]) + iR (a—‘;?-)}
® 5, 2800 _ (a0, H(D)) +ih (%50)

@ §5300) _ ([, HCOD - in (52)

(5) SrfaiRa ¥
08. GerfaIg fval & Waw W Frefafad § 4
PIT B G el 87
(] v SopAvira THaTd! WehH ¥ fHar a1 S
deRleey gad ol § gfE $ R F

Feritel b 2

ﬁ(ﬂwﬁr mttors 1 R S It

YeEices] A Gl ReR Y&l &
mwaﬁﬁwﬁumzﬁﬂwa‘)m.@??

(5) Gﬁﬂﬂﬁﬂ LS|
Wgﬁﬁﬁﬁmﬂﬁmﬁﬁ$m<xz>.

99. <x for the states of a harmonic oscillator is @ .
b ror fora T 8| TET AT AM ® -

A Ah )
given by ——, Here value of A 1s -
Zmw

(1) n (2) 2n
() 2n+1 (@) 2

i, @
(3) 2n+1 (4) n°

(5) J<IRd WA

) Question not attempted

;._%‘*
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70. Which of the following pair correctly matches g
gymnosperm - with its  unique  reproductive
featurce?

(1) Cycas - Archegonia absent
(2) Ginkgo - Non-motile sperm
(3) Pinus - Monoecious, wind-pollinated
(4) Gnetum - Motile sperm
(5) Question not attempted

Consider  the following

of liverworts and mosses -

(A) In both, Sporophyte is non-green.

(B) In both, Elaters are present.

(C) In both, gametophyte is green.

(D) In both, regular alternation of generation is
present, #
.

& Which option is true? ;
XM (© and ) ) (A), (B) and (D)
®) (B), (C) and (D) @ (A)and (B)
(5) Question not attempted
72. Consider the given Assertion (A) and Reason

(R) -

Assertion (A) : Zinc deficiency in plants reduces
apical dominance.

Zinc deficiency affects
availability of tryptophan.
Choose the correct option -

(1) (A) is true but (R) is false.
(2) (A) is false but (R) is true.

(3) Both (A) and (R) are true and (R) is the

correct explanation of (A). '

(4) Both (A) and (R) are true but (R) is not the

correct explanation of (A).

() Question not attempted

73. Which virus is not used as cloning vector to
make transgenic animals?

71. 3G
characteristics

Reason (R) :

(1) Baculoviruses (2) SV-40 _
(3) Geminiviruses (4) Adeno-associated
viruses

(5) Question not attempted

74. When the ribosome encounters a stop codon in
the mRNA, during translation, which one of the
following binds to the stop codon?

(1) Rho factor (2) Release factor

(3) Sigma factor (4) Termination factor
(5) Question not attempted

@ friferfeac 3 @

() g — harh srgaRerd

1.

_(B) 3T # gored SuRerd B 2|

72.

- @) I (AT R) TR E S (R), (A)
TR

GET IT ON
Google Play
iull'illqé 1] f“ " ..l
giﬁ( ‘g?_

fftre g cerr 1

(2) fayay — srael Y7 2
(3) urgT — wfer, Arg—oRTT
(@) “frew — @t Yeh1Y {
(5) argaRer o .
fraxad sk At @ freEr oo
mﬁmﬁﬂﬁ@ﬂﬁl

4

Eg))ﬁﬁﬁaﬁﬁ Gid—ydTRol ferar g
1) (C)a (D) 'ﬁf (A), (B) @ (D)
(3) (B), (C)d (D) @ @am
(5) argaRa weA

&g Ty afiemed (A) 3R dRY (R)
BITY — 4
D (A) : Tt F Rifs A ~ran, Rram
THEAT P HH Bl &
PR (R) : R a1 e e 2t e
BT TS BT |

& faweu gfg —
) (A) ¥ & =g R) Torg |
(2) (A)Tera ® W (R) WS 2| o
[ (A) E[%(R) T E SR (R), (A) T G

| 3

=
WX |dHR
o))

il

T el

_ SO
5) argaRa e

B siwifm g T oy e 4 4
mmﬁnmﬁmﬁiﬁmaﬁmﬁ
() Seearre (2 sV-40
@ Siftrfaree - (g TER-TeRees.
) srgeRa s

74'WWHmRNAﬁWq;‘Rﬁqﬁ
%'?hquﬁﬂ?ﬁ,ﬁtﬁﬁf@ﬁ'
O PR ¥ e 87 b
) 3 R Y- R
@) Rrar ore @) T BrE
(5) srgaia wem .
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80. Which of the l'nlluwing is not
Grassland?
(1) Prairies
(3) Taiga

(2) Steppes
: (4) Savannas
(5) Question not attempted

81. Which of the following option is NOT correct?

(1) The isospin quantum number  behaves as an
angular - momentum  and follow laws of
{lfltlilinn of angular momentum. o
The isospin quantum number I'is conserved
only in Fleclmmagnctic interactions.

The lhlrd_ component of the isospin /3
behaves like a scalar quantity and follows
algebraic summation
The third component
conserved in both
electromagnetic interactions.
() Question not attempted

White coherent light (400 nm - 700 nm) is sent
throug:h the slits of a Young's Double Slit
Experiment in figure. The separation between
the slits is 0.5 mm and the screen is at 50 cm
away from the slits. There is a hole in the screen
at a point 1.0 mm away (along the width of the
fringes) from the central line. Which
wavelengths will be absent in the light coming
from hole?

(2)

(3)

(4)

of isospin I3 is
strong and

82,

| [i-
4 L

50 cm

Wl

(1) 400 nm and 600 nm
(2) 400 nm and 667 nm
(3) 420 nm and 667 nm
(4) 420 nm and 500 nm
(5 Question not attempted
A particle of mass m moving in a one-
dimensional potential given by -
o, x<0
V(x) = {%mmzxz, x>0
The energy levels (E,) are given as follows -
(Heren=0,1,2,3,.......... )

(1) (Zn —-_} hw (2) (Zn + %) "“_’
(3) (Zn + %) hw (4) (2!1 + _z_) h_zm_
(5) Question not attempted

83.

a type of

GET IT ON
Google Play

4

80. fymiferfeac % 91 @YRI HRI-HAETT BT UHR 78
2? /
A vad (2) v /4
(3) 241 (4) <rar-r

(8) arpeiRa we-i f -y
1) fy=ifeifRaa 5 @ @Yrar fawen el el & |
@ (1) onRas wasmvr daied w2 1, B Ty
41 axE g Gedl & S e g

anr @ i o g a2 3

conen (2) GRS wEABYI daieH WA ] Dy
Ei_" e siafsit A < 21

(3 qIR® SEhYl BT SRR Ted 13 U ey

f @ TRE AIER PRI € 3R

w9 el ATl ¥ | Lo

(4) eIRe TashUT BT TRIRT "ged /3 79 T
ergaaTa S # TR vEd B

(5) SrgaRa ye

82. Rz % 47T B A Rete yATT &1 Reed | wdq -
Tl g YT (400 nm - 700 nm) ST S
2| Rered & @ B g0 0.5 mm 8 AR BB
fReled ¥ 50 cm §X &1 ©bIF H Dol X/
1.0mm T (B @1 dieE & Iglee) F fdg

w e fog &) g 9 oA 9 gBET H
BB TR SrguRerd Y
T

,I i

—
— 05 mm
= 1

L e p—

50 cm

(1) 400 nm 3R 600 nm
(2) 400 nm 37X 667 nm
£3) 420 nm 3R 667 nm
(4)- 420 nm 37R 500 nm ¥
(5) srgaRa weA _
BQ-Wmmwwwﬁﬁuﬁwﬁﬁ_
C PRETR, OIS UPR & —
+c0
_ : Xx<0
V(x)"{%mmzxz, x>0
,mﬁ R (En) 39 YR U oy & —
(FETn=0,1,2,3, ......... )
1
(1) (Zn—E hw
1
(3) (2n+;£)hm

(5) argaRa we

" ‘).lil

@ (2n+3ne %
(4) (Zn + %) -"23
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84. If a proton and electron | » same de-Brogli 3 ;
wave the same de-Brogli 84. gfe uyetta - :
P ghe i et ane AUt oy Ay gy et

85.

86.

wavelength, then -
momentum

(1) Momentum of electron =
of proton

(2) Kinetic energy of electron < kinetic energy
of proton

(3) Momentum of electron > momentum
of proton

(4) Kinetic energy of electron = kinetic energy
of proton

(5) Question not attempted

If we look at mirror nuclei, we find that their
binding energies are almost the same. Using this
empirical fact alone, the nuclear force can be said
to be independent of which one of the following
properties of nucleons?

(1) Parity (2) Charge
(3) Spin (4) Distance between
nucleons

(5) Question not attempted

Consider the following statements for resonance

in forced oscillator and choose correct option -

Statement (A) : The amplitude resonance occurs
when the driving frequency is
slightly lower than the natural
frequency of the oscillator,

depending upon the magnitude -

of damping. The velocity

86.

resonance occurs when the two -

frequencies are equal, whatever
the damping may be.
Statement (B) : At amplitude resonance the
displacement lags behind the
driving force by m, while the-
velocity at resonance is always ’
in phase with the driving force.

ot el e

(1) Statement (A) is true and statement (B) is -i-‘.f

false.
(2) Statement (A) is false and statement (B) is

true.
(3) Both the statements (A) and (B) are false.
(4) Both the statements (A) and (B) are true.
(5) Question not attempted

i ="

U= B, ay —
() goragf &1 1w = ety a Han
(@) geragt @ s ot < gty A s
vl
A3 gAragt &1 [T > et @ e
(4) goagt= & ufasr St = wetr @y afas
Frolf

_(5) 3rgaRa e

5) afy gq gdur TSI B W, @1 B9 U@ #

z

@ G Hully T FHM B | dad
gg@T AAfdE a2 B IYANT | ARSI 7
ﬁqﬁﬁeﬁ?’fiﬁﬁﬁlﬁﬁqﬁgﬂﬁﬁﬁﬁmm
I3 BT Wi AdHdT 87

(1) JHar A2)- 3T

(3) =BT (@) il & 7

EaieAl

(5) argalRel e

g el # orgag @ forg fFrferfad

Forl W AR B R 9 faweq g —

S (A) : ITUH IGATE TG Bl & Wd ATAD
argfr Aot F wrplie gt A
) HH Bl 8, ST JaHE D GRATT
R iR &=l & | QT SrgATE d9 €Il
e @B 1 8|

S (B) : ATATH AT WR Ao Ared I
J @18 IEAT B, Sefd AR W
AT WG TeTP dcl B ARG A Bl
2|

(1) BT (A) T & 3R FAF (B) ITA B |

(2) FUT (A) G & 3R HUF (B) TA 2 |

(3) P (A) 3R (B) T 3T € |

(4) w (A) 3R (B) QT O © |

(5) IrgIRa U
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2. The angpilend of o5 vitmes s B0 F= o TS 468 F T ouw AN
i CEIENGr of iy vitmmon deomesss B T T - 10 O Rl
-:_'n - ) & _ e _-;? _q__;__&w_ =— __?:
~p O I anormel wEins o 45 The mucoi =k -Ei_- T WU TR 'E,L‘%Q %ﬁ
angniar S of = B —— T T s - Ea
s SRy of viihvaion s shven B - ST = s s
X 1 g z ~
€0 o o o e . B -
ﬁ.‘ Il_:)-:?_ ""3:”-\ :;.'Za I'-{:' -Trr _;._t- ﬁ?’ fen :\_‘ R m (05)" L= 3 i“.{é]
21 o Y A =X -
8 - SRS, i I =E () e
FEL .-1"____._: 5 B —ir e 1 - - > "‘-.:‘:
{85y 4 ‘ }H“:’*"‘TH & [(0.03) o [(O‘Oa) +
5 Qux ; - - S 2
=8 S301 mow Ba=mme=d B) == 55
. - . S o ~ - 5
?U-"“___--Rmn:ema: melhe sphemica shells of S8 B=r R 28 3% 3RS OF Oof %
a0 K, o = & = = = ——
Q—L ﬂ?m-nga'mmsz_Q. d xR o of e Q. Q3R %@]
S TOEpEOhVElY. B ik Sz e s LS 2 X o, 2 :
% ":"‘_"”:‘“1_"';"} 4 > fomnd ther the s=face SRR EISETm s i ST D i%i
= dmt:m:, 0D o omer Sarfanes o & = — == T TR SYISsY % w
TO D =1 Ui ol ST NISsY IE‘?
i iy N So Qg

TL .
ez Sa=s © han, s
-~ —~ = .
MICrsSG o9iw] O =iy
—— oo, -
(ATm= o Fem T =g
- LIS
vy Rics = |
. - ~ . S~
‘a"-':_.'_,:"-""" SNk 91 99
% - - -~ Y
© 8= T <X AT o
(=N
=
gl
—_—— = —_ T N
C==s=3s5 HCT O O ©
— -
i 3]

below - . 5 )
Code - - FC — {

(=)

(1) - correct.
- gx:,:)andmjm N -\ (A)\#R(B)ﬁ%ﬁ'é’r%;

A) and (C) are correct. F @ ()R ()= w2
(3 Both (B) and (C) are correct. b
(9 All three (A), (_B)and(C)mnotamecr_
(5 Question not attempted 3

90. 'Unpolaxisedlightofimensitylpasses through an Eﬁﬁm I[&7 KBIT U&TSy

ideal polarizer A, another identical polarizer B is Biey

& Intensity beyond B js now found to be I/8. The & X1 LR
anglcbeiwccnpolaﬁzerAandCis- %'WA@_"C%ET&EUSWW'

(1 (2) 450 M o iy

3 e @) 30° ® 60°

) Question not attempied ©) R BES
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91. The electric field due to an electric dipole is
L l‘mrs (2cos6r + sin6d).

4TEo
The equation of the electric ficld lines on the x-z
plane in terms of Cartesian coordinates is -
(Here C is a constant)

M x+z)’=Cx? (2 P+ =Cxt
@) x*+z?)’=Cx* (@ x*+2})*=CxX
(5) Question not attempted :

92. Read the Assertion and Reason carefully for
radioactivity and choose the correct option -
Assertion : Radioactivity of 10® undecayed

radioactive nuclei of half-life of 50

days is equal to that of 1.2x10°

number of undecayed nuclei of some

other material with half-life of 60

days.

Reason : Radioactivity is proportional to half-

life.

(1) The Assertion is true but Reason is false.

(2) Both Assertion and Reason are true and the
Reason is the correct explanation of the
Assertion.

(3) Both Assertion and Reason are true but

~ Reason is not the correct explanation of the
~ Assertion.

(4) The Assertion is false but Reason is true.

(5). Question not attempted -

9
~

'f’

GET IT ON
Google Play

ORI | [J

——

4 '4'.3 -

9. 1w Ao Rya
- > ’ Jv ]
E = —Po o7 Bea~ fagger g o~ %

= e (2cosOf + sin6d) ¥ |
X-Z Tl U 5 T N
i ﬁf;%ﬁﬁ 1T BT g0 FaTa
(@gt C v Rerias )
(x*+ 2% =cx?
(3) - (x* + 2%)* = Cx*
(5) srERd we
92. Yfamffar & fou afveer iR HRYT @7 o
A u¢ IR A ey g —
‘@fHYA @ 50 &A1 H1 sy arel 108
' sifqafea Searrt Tifel @
fEAmfiar 60 fa=i o1 aref—amg art
et oy ueref @ 1.2x10% aifdafea
At B AeAuffar & a=Ex 2|
PHROT : MSTEffar sf—emg & |AERGU Bl
gl !
(1) aifipua 9 & oif HROT IFF 2|
(2) sfPpoe iR BROT TET FF € R BRI,

(2) (x?+ 222 = Cx*
(4) (x*+22? =Cx?

B e @1 el ST § |
E;Zlg(s) ST 3R BRI A T € Al BRI,
T oo @1 98l AR el ©

" (8) afiyperd A & AfPT HRY T B |
(5) IrgTiRa U%

93. The energy of a free electron including its rest 93. ug Had goldnid DI Sl E® fored u?{ﬂ'c}?l
mass energy is E. What is the phase velocity of farme gerEE Soil A gftafora &1 saae™ a;}
‘wave packet associated with motim} of the R ¥ Hag ¥ e BT bell 37 T &7 (@Et
electron? (Here symbols have their usual ddal @ wafer et §)
meaning) . - .

g = G = @ 0 T
(1) i (2 . 3 (mz-m§)Zc (m2+m3)Zc
(mz—mg)zc (m +m%)2c o x
2 (m*—m3)c Ep—— (ay} Gt s
3 (3) (mz-—mg)%c (4) __TE—O-— (mz_mo)zc p (;‘2‘
c2
g . (5
5) Question not attempted % ] (5 aﬂ' aRd ueT . :
a collinear collision, a particle with an initial 94. v _WivEl TPy H, URMD ATl vo Irell T
“speed Vo strikes a stationary particle of thel§_ame BT -GHAT SHATT B Th ﬁﬁﬂ HT J THI
* mass. If the final total kinetic energy is 50% 2| ofy siftm @a RS Sl o arfast m
 greater than the original kinetic energy, then J 50% f® &, O TaBR B A, 21 U B
magnitude of the relative velocity between Fhe ) Sr e AT BT gRAT & —
two particles, after collision, 15 - . @) Yo
M) Y2y (2) Yo A¥V2v, .
’ * 3) Yo @ Yo
(3) % (4) 1’2-"- N 2
. 5) argERa T¥
(5) Question not attempted (5)
A, (
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100. The headlights of a distant car are 1 4m apart,
If the diameter of pupil of eye is 3mm, then what
is the maximum distance at which the two
hc:ull‘ights c¢an be resolved? Consider headlights
as point sources of wavelength 500nm.

(1) 68.96m (2) 3448m
(3) 34.48m (4) 6896m 0
(8) Question not attempted .

101. 1 :
01. In a region of space, a particle of mass m has a

wave-function -
forx>0

: Nxe~ox
X)=
W { 0 forx <0

What is the potential energy of particle if the
total energy of particle is zero?

(Here a is a positive constant)

(1) hz(.+

2m

R
2Zm b 4

(3)—_’f.( 2 _ 2«
= Zm U x.

(4) Value of N is needed to answer this question
(5) Question not attempted

102. A plane wave of angular frequency w and wave
number K propagates in a neutral, homogeneous,
anisotropic, non-conducting medium with p = 1.
Which of the following option is incorrect?

(1) Histransverseto K. ) KB =0

3) Dis transverse to K. (4) E is transverse to K.

(5) Question not attempted

103. Calculate the increase in internal energy of lkg
of water at 100°C when it is converted into steam
at the same temperature and at 100kPa. The
density of water and steam are 1000kg/m> and
0.6kg/m® respectively. The latent heat of
vaporization of water = 2.25 X 10°J/kg.
M 1.7 x10°J (2) 2.08 x 10°1
@) 1.7x10°J (4) 2.08 x 1057

(5) Question not attempted

GET IT ON
Google Play

100. g7 Rerer vas R & arrdy (headlights) 1.4m ¥
g | afe sifa & yach @1 amy 3mm e, @
a8 dferman o Far B, R W A =1 aprdm
fafea fsw o wea 22 swdYi @t 500nm
e & fdg Wl & w7 § 59

&y 68.96m (2) 3448m
(3) 34.48m (4) 6896m
_(8) srgalRa w&7

0}}WH$W%ﬁmW$WW$
fore aT—wad B —

_ [Nxe %X & x>0
q;(x)—{ 0 % forgx <0
& & Rafds ot @& 8 afe a1 &) g
FHoft T 87

(@&l o TP TS Rid §)

@) 2 (o 20)

2m X

B (2 ~ )

2m X

(4) 39 U9 & SR o4 @ fo¢ N& A Pl
IAGITHAT &
(8) srgaiRa wed
102. 1o IMRT w R TR HE&AT K dTell Y o
T p=14dd UH SaNiN, |Hi, Ry,
AT AreH ¥ HaRka 8 @ g fFefeRaa
fameal § ¥ BT e g 87

j: () HKS IrRI 8l @-KE=0

(3) D,K® IrguRT &1 (4) E, K U ¥ |

(5) srgERa W

(03 100°C & 1kg T B siiaRe il F ghe A
mﬁmsﬁmﬂmaﬁqwokpawm
3 gRaffa fam ST &1 o iR g 1 e
HHI  1000kg/m? 3R 0.6kg/m3 ¥ UFl &
EIEHROT BT YW FHT = 2.25 x 10°J/kg

(M 1.7x10°J (2 208 x 10°]

(3) 1.7 x 10°] (4) 2.08 x 10°]

(8) srgaiiRa weA

03 - Yx
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wl chgine  working
he

(IRLMTAREIURY U LSRG I the
Fectatne ol the colb tvsernie i increased by

P The effiviency ooa L
TR IEARMIR e

wost

et Leat

Y ki
Q. e eftivioney decteases ey ¢ What is the

value ot @)

(1) NN (M 165K
Q) AN ) oK
) Question ot attempted

105 Ajpnta width - of centtal - wmanima e the
Prannhoter difiaction pattem of a single shitas
measinad ustng Hght of wavelength 6000 A
When e shie iy allaimated by

N warelonpth, the anpular width decreases by

200 What iy this new wavelength?

CAssne angilar width w be very simall)
(1) 600 A (@ 4200 A

() 1800 A\ () s400 A

(8) Question not attempted

another

106, Lt anereisig ander of boiling points of the
\'..‘“‘““ dudes
XD N < NI < HeS < HE
(2) Silly < NHu< HE<HS
(8) Sl < N < 1S <HE
(M) Sty < 1S < NHy < HE
(6) Question not attempted
107, Consider the tollowing statements -
(1) For Arthenius equation, the slope of the graph
between  Ink v/ 11 pives :il;_l . where
1%, = Activation cnergy, R = Universal pas
constant,
(D) When a substance reduces the rate of
reaction, it is called inhibitor,
(i) A catalyst changes the rate of reaction by
changing the Gibbs free energy of reaction.
The correct statement/s isfare -
(1) Only (i), (i) (2) Only (1), (i)
(3) Oaly (1) (@) All (D), (i) and (iii)
(6) Question not attempted

Google Play
1p4:1‘.“ Gui A @ e O e gos
a0 " f o MER @ A 99°C Ry nfd
4R sare m a0 O A Rar @ o T
Hewy i A wich 1 0 &1 oy @ B

(2) 165K
(4) 62K

(1) 3K

() 15K

(5) aria ueA
106, uip Ybel Rete A WISTEHY fRads ufdwu 3§
Dl aftas @ ooha e 6000 A TR
& umter @ s Hd STl 1 W4 g9
Rare @) v o aeorded w6 s

Wt e

E.i;itk' 2 ) ool wverd 30% @9 & Il § | UE S

¥ (]‘\":[;?\‘.g} RN {:}-‘ (zﬁ"[uﬁ'.‘_‘[ ?ﬁ:‘;ﬁ; @Y I 'qﬁ)
£2) 4200 A
(4) 5400 A

(1) 3600 A

(3) 1800 A

(8) Jre(xiRa uw
106. grggied) & auEin) @ W aE B

(1) NH:< SiHi < HaS <HF p—

(2) SiHi < NHi< HF <H:S

3) SiHi < NHi< HaS <HF

(4) SiHi < HaS < NH3 < HF

(6) JiRa Wy

107. =i wusl R AR i -
(i) AR IR & g, Ink <2 % @ Ty

mrﬁaﬂm_:‘@?n%‘. WEl E, = Wipan
Fal, R = ardf¥e o Rerie @)

(ip) ST DI ugret AMfFar B SR B FH SN
2, 90 FRue sea &)

(i) S, ffrar A Mew qaa i A

uRads s, aifvar @) av «1 aRkafda

BT B |
W B R/ —
L1 dael (i), (i) (2) &aa (i), (iii)

(3) W (i)
(8) arRIRET e

(@ ) (i), (i) 3R (iii)
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108. The principal emulsifying agent for water/oil
(w/0) emulsions among the following is -
(1) Gum (2) Lampblack
(3) Natural and (4) Proteins
synthetic soaps
(5) Question not attempted
108. Which element is required as cofactor for all
enzymes that utilize ATP in phosphate transfer?
(1) Ca (2) Mg
(3) Zn (4) Fe
(5) Question not attempted

110. Convulsions are caused due to the deficiency of
which vitamin?
(1) Pyridoxine (2) Ascorbic acid
(3) Thiamine (4) Riboflavin
(5) Question not attempted
Match the Column-I (Polymer) with Column-II
(Corresponding monomer unit) -
Column-I
(Polymer)
(i) Glyptal
(ii) Bakelite
(iii) Nylon-2-nylon-6
(iv) Buna-N
Column-II
(Corresponding Monomer Unit)

(A) Glycine + Aminocaproic acid
(B) Phenol + Formaldehyde
(C) 1, 3-Butadiene + Acrylonitrile
(D) Ethylene glycol + Phthalic acid
Correct code is -
(1) (i)-(B), (ii)-(D), (iii)-(A), @iv)-(C)
(2) (i)~(A), (ii)-(B), (iii)-(C), (iV)-(D)
(3) (i)-(D), (ii)-(B), (iii)-(A), (iv)-(C)
(4) (1)-(D), (ii)-(B), (iii)-(C), (iv)-(A)
(5) Question not attempted
112. Which one of the following metal oxides will 'not
be reduced by aluminium in thermite reaction

below 1500°C?
(1) FeO (2) CrO

(3) NiO () MgO
(5) Question not attempted

111,

GET IT ON
Google Play

108. fyifeiRaa 3 @ 511 /&t (wiho) zeor & FiT
W URIEHE 2 —

(1) g (2) wrora

(3) urgpfasm qar ASY virér
wzerfad A

(5) orgeifel W

109. @o&T UwallgH SIT BiEhe IHI0 § ATP &7
wq ¥ ATqIgHdr i 27

(1) Ca 2 Mg
£3Y Zn (4) Fe
(5) IR ue
110. mRyg g1 fba faeif@a &1 sreaar & Hrer 8
87
(1) ugREfFa @Y wraifdd ard
(3) o= (ORIECIERIEE]
(5) srgaRa e
1. piem—1 (@gerd) & Baa—Il (Fafed THas
gTe) W gAfer BT —
Brad—1
- (TETD) -
() faea 2
(i) dPperse 6
(iii) AIATF—2—ATIATT—6
(iv) &N c
Carganl |
GEIECREIEAELIE)
(A) TETZHA + TGS 3
(B) BT + BIAICSESS
(C) 1, 3-FeTSTET + UfshailTggTsd

(D) TN g dia + Aferd 3T

W& T R -

(1) (i)-(B), (ii)-(D), (iii)-(A), (iv)-(C)
@) (i)-(A), (i)-(B), (iii)-(C), (iv)-(D)
BY-(i)-(D), (i)-(B), (iii)-(A), (iv)-(C)
(4) (i)-(D), (i)-(B), (ii1)-(C), (iv)-(A)
(5) srgaiRa u¥A
@-ﬁwﬁﬂ@ﬁ F | P arg fFgS 1500°C

A emize affhar § TegAifas grRT suaidd
&l BT 8?

(1) FeO (2) CrO

(3) NiO @) MgO

(5) 3 g
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113. Match the Column-] (Chemical) with Column-II

(Biological function) -
Column-I
(Chemical)

(1) Tetracycline

(ii) Furacine

(111) Saccharin

(iv) Penicillin

Correct code is -

(1) (i)-(b), (ii)-(c), (iii)-(a), (iv)-(d)

@) ()-(b), (ii)-(d), (ii1)-(c), (iv)-(a)

@) ()~(a), (ii)-(b), (iii)-(c), (iv)-(a)

@) (i)-(a), (i1)-(b), (iii)-(c), (iv)-(d)

(3) Question not attempted .

Which of the following statements are correct

regarding Co-ordination compounds?

(i) [Co(NH3)6]**< [Rh(NH3)s]* < [Ir(NHz)e]3*
(Ao crystal field splitting).

Column-II
(Biological function)
(a) Bactericidal
(b) Bacteriostatic

(c) Artificial sweetener
(d) Antiseptic

114.

(ii) H20 < CO < NOZ < CN- (Order of splitting
strength of ligands in Spectrochemical
series).

(iii) A = g Ao (Relation between tetrahedral A,

and octahedral A crystal'field splitting).
(iv) There are 2 unpaired electrons in d* low spin

octahedral complex.
(1) Only (i), (iii), (iv) _ )
(2) Only (ii), (iii) : |
(3) Only (i), (i), (i) | ;l-'fgi
(4) Only (ii), (iv) Sl

(5) Question not attempted

115. (C¢HCO),0,
—_Z

CH; -CH =CH, +HCI Major product (X)
Identify the Intermediate and Major product (X)
in the above reaction sequence -

Intermediate Major product (X)

+ :
(1) cH;—CH,—CH, CH;—CH,—CH,—Cl */

CH,—CH—CH,
@

CH,—CH,;—CH,—Cl

CHS_CI:H _CH3
Cl
CH;—CH,—CH,~Cl

GET IT ON
Google Play ‘

13, w1 (@) & dferIl (A o)
gfora ISTT —

iy Bierd—II
] (& )
() egremgac  (a) AT
(i) TR (b) SATIfRTEAT
(i) T (c) PIAH T
Ry () g
GEG T

(1) (i)-(b), (ii)-(c), (iii)-(a), (iv)-(d)
(2) (i)-(b), (ii)-(d), (iii)-(c), (iv)-(a)

(3) (i)-(d), (ii)-(b), (iii)-(c), (iv)-(a)

4BY(0)-(a), Gii)-(b), (iii)-(c), (iv)-(d)

(8) srgaiRa wed

SugeEdoe Aifffel @ e H frEfeRag

FoEl A | BT Tl &

(i) [Co(NHs)s]**< [Rh(NH3)s]** < [Ir(NH3)s]*
(Ao fihvear &= faures) |

(ii) H20 < CO < NO; < CN- (ReeRafs
o F foritvs & faurest wred &1 @9) |

(i) A =-:—Ao (TATHADI A, TAT ACHADI
Ao freeer & faurest & W) |

(iv) d* 71 =spo1 srewerata Wiager & 2 argfn
gelagT B &

(1) @t (i), (i), (iv)

() &9 (i), (i)

() ®ad (i), (ii), (iii)

(4) B (ii), (iv)

) srgaRa we=

T 9O (X)

IS
(1) CHJ_CHQ_CHQ CH;'_'CHE_'CH;"" Cl

@) CH— LI*H—-(:H, CH;—CH,—CH,—Cl

Cl
+
@) CHJ—CII-—(I.‘IIZ

Cl
(5) IR weq

CH]‘_‘%‘H _CH3
Cl
CH,—CH,—CH,—Cl
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% 116. The  incormee .
& iy | stateme - _—
3 sement - for - interhalogen (8. Prifafn § @ JavddoE Wfe @ AT

: compounds among the following is - IS T R
:;: ll:‘:; iln‘ A_\l! Em_mmg“mc in nature. (1) 2w Spada ugpfy @ e 2
| general mterhalogen compounds are more @) AU AT A o B
'_: reactive than halogens (except fluorine). JeT IRH Frareia @y 2 (T @
? (3) These are all covalent molecules. @) :T?Tﬁ;ﬁ) !
@) At 298 K exce t CIF all are volatile solids { Ml WEarea 'C)nﬂ g‘ﬁ\f ? |
fuiits pt CIF all are volatile solids or @) 5;3;; ‘_?I CIF & sfiRas o s
(5) Question not attempted (5) IgERT Tes
T17-Which of the following are characteristic 1M7-fy=fifEd § ¥ oF9 ey em &
properties of crystalline solid? SATNTRIOIS o7 89
(a) Definite geometry  (b) Isotropy (@) P9 SiE (b) 99 Rear
(¢) Sharp melting point  (d) Long range order (c) da TaTiD (d) < W) gt
Choose the correct option - el [Py &1 939 FIT —
(1) Only (a). (¢) and (d) (2) Only (b) and (c) @Y 33 (a). (¢) TG (d) (2) Faa (b) TE (c)
(3) Only (a). (b) and (c) (4) Only (a) and (b) - { (3) @ad (a), (b) TG (¢) (4) Pad (a) TG (b)
(5) Question not attempted q (5) srgaiRa oed
118. The correct order of reactivity of the following 118. fy=faifaa difi®di (A. B, C Td D) &1 Syl
compounds (A, B, C and D) in Sx1 reaction is - sifdfaar ¥ frareiierar & W8l 9 8.~ 5 ¢
(A) CeHsCHaBr (A) CsHsCH:Br K
(B) CeHsCH(CH3)Br (B) C¢HsCH(CH3)Br
(C) CoHsCH(CsHs)Br (C) CeHsCH(CeHs)Br
(D) C¢HsC(CHz)(CesHs)Br (D) CsHsC(CH3)(CsHs)Br -
(1) D)< A)<(O)<(B) (1) @<A)<(O<(B)

(2 (D)< (C)<(B)<(A)

@) (D) < (C) < (B) <(A)

(3) (A< (O <B)<(D) : ¥ (A) < (C) < (B) < (D)

@) (A)<B)< () <D (4) (A)<B)<(C) <Dy

(5) Question not attempted (5) araRa weA

119. The consequences of genetic disorder Wilson's 119, @il AR faeaT T & gRomE & —

disease are - ! )

(1) Mg accumulation in the liver. kidney and (1) Igq, < a1 AR § Mg & |99d
brain. ) PaT—

(2) Cu accumulation in the liver, kidney and EFaga, ﬁ AT AR u SER
brain. (3) TP, TS TN ARASH § Fe & WaY

(3) Fe accumulation in the liver, kidney and

(4) Iga, & 1 JRaH H Ca BT Hol

brain. . -
(4) Ca accumulation in the liver, kidney and

brain. (5) e w=
(5) Question not attempted

120. pair of paramagnetic molecules is - 120. GHW JURI &1 g - -

(1) O:and Ca (2) O:and Li> 0@ G (2) 024 Lis
(3) 0; and Ba (4) B2 and C2 (3) 0>Ud B (4) B.Tq C»
(5) Question not attempted (5) sgaRd ue
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121. The valucof A, forthe 1.‘nm|mumi®jﬁ is— 121, Zfie ‘- & AT Amax DT AH & —

(1) 373 mp (2) 313 mp " () 373 mp (2) 313 mp

(3) 363 mp (4) 343 mp (3) 363 my & 343 mp
(3) Question not attempted (5) méﬁf?ﬁ g9

122. The epimer of glucose is - 122, TP BT UIEY & —
(1) Fructose (2) Xylose (1) ;b—q-avf (2) STEarS
(3) Mannose (4) Ribose @/{:ﬁ\—ﬂ (4) Yrgars
(5) Question not attempted (5) Slﬂﬁﬁﬁ o

123. The number of stereoisomers of the complex ion ' IR [Co(en)Cl]* & f3fdw Farazaf
[Co(en):Cl2]* is - (Qéﬁu‘rarm) T & —
(1) Five (2) Two (1) df= (2) <1
(3) Three (4) One (3) 9= @) &
(5) Question not attempted : (5) 3T ue=

124. Arrange the following compounds in increasing  124. fiy=faRaq e B TS @I T AN
order of their wavenumber of absorption - T B g HH H afked B —
(i) < x=cCH, @ [>=cn,

() < >=CH, @) [>=cH,
_CH, CH
L : | 2
(iii) Gv) [ >=cH, Gii) [ ] (iv) [ =CH,

M @) < (i) < (i) < (iv) @ @) < (i) < (ii) < (iv)

@) () < (i) < (iii) < (iv) ) (i) < (i) < Gii) < (iv)

@) (v) < (ii) < (i) < () o (3) (iv) < (iii) < (ii) < (i)

@ @) < (iv) < (ii) < (ii) IRe Y () < Giv) < Giii) < (i)

(5) Question not attempted T (9) IgaRa wem

125. When 2.0 g of a non-volatile non-electrolyte  125-51g 2.0 g JATefiel Agd IFRIEey o
solute is dissolved in 100 g of benzene, then the 100 ¢ 99 ¥ ®ell war &, ar I
boiling point of benzene is raised by 0.635 K. FIRIIS A 0.635 K & gy & ol ¥ faew

Calculate the molar mass of the solute (K for @ AR T P TOET BT @@= & forg
benzene is 2.53 Kkgmol™) - Kb =2.53 Kkgmol™! 8) —

(1) 119.52 g mol™ (2) 159.36 g mol™! (1) 119.52 g mol™ (2) 159.36 g mol™!
(3) 79.68 g mol™! (4) 39.84 g mol™ (3) 79.68 g mol™! (4) 39.84 g mol™!
(5) Question not attempted i (5) s=IRa a&=
126.1f E* = —0.25 V for Ni*/Ni; E* = 1.5 V for 126-9f Ni2*/Ni & fQ E° =—0.25 V: Au™/Au &
Au**/Au, then the emf (E_,) of the cell RITE=15V & @ I«
N/Ni** (1.OM)llAu** (1.0M)/Au is - Ni/Ni** (1.OM)lIAu* (1.0M)/Au &1 emf (Egep) & —
M +125v (2 +1.75V (1) +125V @ +1.75Vv
@ -175Vv (4) —1.25V (3) -1.75V @) —1.25V
(8) Question not attempted (5) srgalRa weA
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GET IT ON
Google Play

127. Which i
Which is not a postulatc of Valence Shell
Electron Pair Repulsion (VSEPR) Theory?
(1) tI'he repulsive interaction of elect
Increases in the order -
Bond pair-Bond pair < Lone pair-
< Lone pair-Lone pair
(2) The pair of electrons tend to occupy such
positions in space that maximize repulsion
between them.
The shape of molecule depends upon the
number of valence shell electron pairs
(bonded or non-bonded) around the central
atom.
Pairs of electrons in the valence shell of
central atom repel one another.
() Question not attempted

128. Consider the following Assertion (A) and
: Reason (R) and choose the correct option -
Assertion (A) : In actinoid series the actinoid
contraction continuously
increases from element to
element.
Reason (R) : It is due to poor shielding by
5f electrons.
(1) (A) is false and (R) is true
(2) Both (A) and (R) are false
(3) Both (A) and (R) are true and (R) is correct
explanation of (A)
(4) Both (A) and (R) are true and (R) is not
correct explanation of (A)
(5) Question not attempted
129. The minimum pressure required to compress
400dm3 volume of air at 1 bar pressure to
; 200dm? at 30°C temperature will be -
s (1) 1.0 bar (2) 2.5 bar
| (3) 2.0 bar (4) 0.5 bar
(5) Question not attempted
130. Which one of the following statements Is
incorrect? %4
(1) Fez(CO)9 has three bridging CO groups
joining two metal atoms.
(2) [Fe(CO)4]* has iron in (1) state.

ron pairs

Bond pair

(3)

(4)

TR e
127,578 N Bl deere wr

ufdedu (@ ddam) R o
8l 87

B RO

(1) SAFLE gl & wen wfivatvy s Rl
amEell grH—ardel 4 < vard qr—3TaEh
g < UHIDT LTA-THH YR

(2) gorag™ g WY § 9 Rerfoa) 4 araferd
BF BT YR B &, R Berasy 396

e gfaedor sfdeaq &)
3 B AP, DT WAV & AT
mﬁ?ﬁﬂﬁ'uaﬁwsﬂﬂm“yq‘i(zﬁaa

3rergr 3raferd) @ dEr wR iR awd @)
4) BT GV B GASTEHAT BIY Y IuRkerd
gOgE g UH—qaR B ufsffe ded €|
(5) s we
128. ferforRRad aiffder (A%ggrwm)wfﬁam
FITY vd wE Rder gy —
aifFeE (A) : Wdestas 9o # Ufderas
MGET Uh e | gaR e Pl
IR TR 9T & |
PR (R) : I8 5[ geideil gRT gdol GRRET &
PR BT € |
(1) (A) e 2 3R (R) 9 &
(2) 2591 (A) 3R (R) 3T &
(3) =FT (A) 3R (R) Ww & 3R (R), (A) BT A&
WP 2

-

& :

(4) =T (A) 3R (R) T & 3l (R), (A) BT &)
TEHROT TE B
(5) 3r<IRT we
129.30°C &9 @1 1 bar §@ W a] & 400dm?
AT d 200dm® wd T R b g
AP RITH &1 BRI —
(1) 1.0 bar (2) 2.5 bar
(3) 2.0 bar @Y 0.5 bar
(5) srgeIRel wes
130. fr=rforRae F 4 BN HUF ol 87
(1) Fea(CO)o # <Y o1y WHIRl ®1 Siga aral
&= fafdir co wE 1
(2) [Fe(CO)sJ* A MR, (1) 3razer H | ‘
(3) V(CO)s # V ¥ WAl Jawen § R, gam

(3) V(CO)s has V in zero valent state, has Agfra gdsl ® 3R A§ MANRE g
unpaired electron and it remains monomeric. 2 - . . ‘

(4) Ni(CO)4 has Ni in zero valent state and is not (4) Ni(CO)s ¥ Ni gﬁam? St argeenm ¥ ¥ iR
square planar. ERIGOES T;aﬂu T8l 2|

(5) Question not attempted (5) argeIRa

Pt PR o0 ¢ A '! o
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131. According to National Curriculum Framework

132.

133.

(3) Only (b) and (c)

134.

2005, at which stage students should be engaged

in learning Science as a composite discipline?

(1) Upper Primary (2) Senior Secondary
Stage Stage

(3) Primary Stage (4) Secondary Stage

(5) Question not attempted

Learners are constantly constructing and
reconstructing their cognitive structures, both as
a result of newly acquired knowledge and as a
result of their reflection on previously acquired
knowledge. This mentioned assumption is based
on which curriculum approach?

(1) Cognitivist (2) Behaviouristic

Approach Approach
(3) Constructivist (4) Humanistic 1
Approach Approach

(5) Question not attempted ;

Which of the following are the advantages

of field trips in Science?

(a) It provides hands-on experience to the
leamner. '

(b) It is easy to conduct.

(c) It is useful in collecting Science related
material. ;

(d) It provides the opportunity for selection of
the projects.

Choose the correct code -

(1) Only (a), (b) and (c)(2) Only (a), (c) and (d)

(4) Only (a) and (b)

(5) Question not attempted

According to Miller, which of the following 134.

is/are the main aspect/s of Scientific Literacy?

(a) An understanding of the key concepts of
Science

(b) An understanding of the norms and methods
of Science

(c) Understanding of the impact of Science and
Technology on society .

Select the correct answer using the code given

below -

Code -

(1) (a), (b) and (c) are (2) Only (a) is correct
correct

(3) Only (b) is correct (4)' Only (a) and (b) are

correct

- (5) Question not attempted

&
5 o an

131.

132.

133.

GET IT ON
Google Play

I urazredt @) Gl 2005 B TR, fw
R W Renfiai @ fagr & gE T Qe
@& Wy # W@y § Gar g Aieg?

) S=1 gifE W (2) 9= A Wi
@3) yeifie wr (4) At e wR
(5) 3rgaiRa weA

frafor s PR Y T, TE T BIA Y
ARfT ST @ BRUT BT & dfed TEe | Wi
A W 9P Riqa @ BRO A BT Bl T
Sfeafea uronm fed wEIEEl SUTH W
ImeTlRa &7

@ <sard! SurTH  (2) HFERAE!l SUTTH
(3) fAHivEE YR (4) AIFIarE] SURTH
(5) argaiRa aeA

frafeRad § ¥ A9 s 3 &5 w901 & o™

87 -

(3) T8 ARFTAGAIS Pl AGEIRD ITHd FT
Tl

(b) TE e H I 2 |

() I fasm Gae wfY vefa &= #
IuEnf B |

() T aRAITIR & Fa9 B STaHR TS Bl

=
[El @ BT =TI DY —
(1) &9 (a), (b) Td (c) @FHa (a), (c) T (d)
(3) ®aat (b) T4 (c) (4) %ad (a) TF (b)
(5) argxIRa wed _
fler @ R, ffafag § ¥ F=r/
IS TIERAT BT & sl & /82
() s & vgE Tal S \HsHET
) fasm & wHe vg Rty o gasEr
(c) s wd WeNfred & A W wE B
AT
MU A ™ g FT IWWIT S TE TN

g -
ag‘? —
JAF (a), (b) TAT (c) WEI (2) HaA (a) WY &
'8
4) Sa (a) T (b) |E
g

(3) @ael (b) Wl ®
(5) SrpaiRa e

6?‘&
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135. Wh; :
Which of the following statement is not allied

136.

with Project Method?
(1) Teacher encourages and helps the students in
learning, if needed.

(2) It is observation oriented.

(3) Itisundertaken by students to plan and direct
teaching-learning activities.

() It is done by students in real or natural
setting.

(5) Question not attempted

As per NCF-2005, good Science education
should be - i

(A) True to the child

(B) True to life

(C) True to the teacher

(D) True to Science

Select the correct answer using the code given
below -

(1) Only (A) and (C)
() (A), (B) and (D)

(2) (A), (C) and (D)
(4) (A), (B) and (C)

~ (5) Question not attempted

137.

@ (A)-G), (B)-(ii), (C)-(iii), (D)-(iv)
* (9 Question not attempted

Match List-I with List-II and select the correct

answer by using the code given below the lists -
List-1

(A) Literary Activities

(B) Aesthetic Activities

(C) Social Welfare Activities

(D) Leisure Time Activities
List-TI

(i) Stamp and Coin Collection

(ii) Debate and Discussion

(iii) Music, Dancing and Drawing

(iv) Social Services :

_Code-
(1) (A)-(1), (B)-(iv), (C)-(iii), (D)-(ii)

(2) (A)-(ii), (B)-(i), (O)-(iii), (D)-(iv)
() (A)-(ii), (B)-(iii), (C)-(iv), (D)-(1)

GET IT ON
Google Play

135. fopfarfaa 5 91 @1 do= uftgoEr fafa 4

g 18] 87

@) Riee fRenflai &1 genfRa s 2 &%
afe sraegear 81, o 3iferTy 3§ |aradar dedl
=

ﬁa@aﬂmmél

(3) w7 feenfiai gmr Rev—aifms afafafaat
@I A1 g9 IR R e B Bd
El

(4) 7z fenffal g1 arafls a1 wsfis Refd
# fosar <iran 2

(5) srgaiRa ge

136. g *1.UH.—2005 & AR, I fagm fRen

T 18T —
(AT F= & "l aedl

B)-oflas @ ufa F=dl
(C) 3eas & ufa gl

@y fagr & ufd w=h

A QY T g BT SYART RS Hal SR Bl

T B —

(1) @9 (A) T& (C)
A), (B) ¥d (D)

(5) srgaRa ueA

(2) (A), (O)Td (D)
(@) (A), (B)Td (C)

137. i1 &1 -1 & R R 7o T @

4 & T g & TET e GEl SN Bl

" o R —

AT
(A) wifefegss wfafafmr v
B) dr<afcrs wfafafddt
(C) arfoTd wedror Tfafaferr v
(D) €IS Hg fafafert
o gE-II
() fefbe va fyawr |dug
(i) ar5—faare va uRaat
(iii) i, o7 vd feaden
(iv) \aTIfTe Hard
a}E it
(1) (A)-(i), B)-(iv), (C)-(iii), (D)-(ii)
(2) (A)-(iD), (B)-(i), (C)-(iii), (D)-(iv)
(A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
(4) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)

(5) argaiRa we

03 -
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GET IT ON
Google Play

i . ‘

138.

139.

Read the Assertion (A) and Reason (R) carcfully
for Science and choose the correct option -
Assertion (A) : Science is both body of
knowledge and method of
inquiry.
Reason (R) : Science involves thinking,
observation, experimentation and
reasoning. In Science facts,
concepts, laws and theories are
derived from process.
(1) (A) is false but (R) is true.
(2) Both (A) and (R) are individually true but
(R) is not correct explanation of (A).

(3) Both (A) and (R) are individually true and
(R) is the correct explanation of (A).

(4) (A) is true but (R) is false.

(5) Question not attempted

Match List-1 with List-II and select the correct
answer by using the code given below the lists -
List-I

138. fazst & forw sfamEaa (A) HZ &7 (R) =

139.

9 A ue AR wa fawes g7 -
afrpaT (A): fasme, sma @1 9377 T3 gE
# fafy =47 2

SR (R) ; fasma 5 fomm, saci@=, 7arT 7
a¢ gaifed & | fasm= F @23,
g BId B |

(1) (A) 3 & fbg (R) T B |

(2) (A) TG (R) EHi Jo& T9 & HEl § T

(R). (A) @1 G @reA @l 2|
@L(A) T@ (R) BFT JI® T9 ¥ FEl § IR
" (R), (A) @ HE AT B |

@) (A) 9 & fog (R) 39 2|

(5) srgelRe weA

-1 & -1 ¥ FAfoa sied odl 31 5

A A T He BT SYART RS Fel Sux Bl

TIq BT —

(A) Comprehension ‘. A1

(B) Application (A) @€ Wi

(C) Analysis (B) 39T

(D) Synthesis (C) fararamT
List-II (D) HzerwoT

(i) Bringing to bear upon given material the
appropriate generalization or principles

(i1) Putting together of elements or parts so as to
form whole

(iii) Grasp the meaning and intent of material

(iv) Breakdown of material into constituent parts
and detection of the relationship of parts

Code -

(1 (A)-(3), (B)-(iii), (C)-(ii), (D)-(iv)

@) (A)-Gi), (B)-(i), (O)-(iii), (D)-(iv)

@) (A)-Gid), (B)-(1), (C)-(iv), (D)-(ii)

@) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)

(5) Question not attempted

-1
(i) € T Jrfl R S AEIGROT AT
g arg &R
(i) Tal 4T 3T BT TP | G d1fd TF w9
T D
(iii) AT & 3 IR Ie B FHH
(iv) Gl @ "eHi A famfora S aen qE
& 99 g DI gdl T
@ —_
(1) (A)-(1), (B)-(iii), (C)-(ii), (D)-(iv)
(2) (A)-(iD), (B)-(i), (C)-(iii), (D)-(iv)

43} (A)-(iii), (B)-(i), (O)-(iv), (D)-(ii)

@) (A)-(iv), (B)-(iid), (O)-(ib), (D)-(i)
(5) oraiRa WA

03- 7%
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GET IT ON
Google Play

typically considered

an activity in a Science fair? E’l e
1

._j; V4

b j“.;

R0 Whish of e ¢ ko
lich of the following is 140. fyiferferer i 4y ayredy iferfafey
afafer s, fasm

et @Y afafafodi i ardr o 7

(2) Science quiz contes
quiz contest (a) FasIer wosiverdy ufernfarar

141.

142.

(b) Film shows and plays on scientific concepts

(¢) Group discussions, seminars and workshops
on Science

(d) Lectures and talks of Science teacher -

Select the correct answer using the code given

below -

Code -

(1) Only (a), (b) and (d)(2) Only (a) and (c)

(3) (a), (b), (c) and (d) (4) Only (b) and (d)

(5) Question not attempted

Out of the following, which comes under the

product of Science? '

(1) Formulation of (2) Experimentation
Hypothesis

(3) Scientific Attitude (4) Scientific Laws

(5) Question not attempted

Which of the following role of Science teacher is

not allied with Inquiry Approach?

(1) A Science teacher should work as a stage
setter by providing required materials and
facilities.

(2) A Science teacher should function as a
motivator and facilitator.

(3) A Science teacher should provide instruction
to the students by controlling the whole
process.

(4) A Science teacher should provide responsive
environment for inquiry learning.

(5) Question not attempted

(t5) 455 araumeonai uv amenfon fies geefa
3T rew

(c) A3 0% ¥vyg wralf, wiaiifet oty wrromens

(¢h fasi Riers & ormer wd gt

A e T g w1 SyErT I w8 wue

P —

e~

(1) @99 (a), (b) T (d) @F I (a) T (c)

(3 (a), (b), (c)Td (d) (4) Bae (b) 7T (d)
(5) srgRd ue

(aDrferae % % @i Rs @ Swre @ ea

37T B?

(1) gR&me=T &1 AT (2) wIrT

() At sfigRy A denfie Frm
(5) srgaRa g

182. fy=forRa 3 ) Rsma R &) i e

UTBT SUNTH ¥ g el 87

(1) ve fasm Rrre o asas amiidl d
et ye wRa gY "9 A & wa H
B HAT FMRY | ' |

£ 7w fae e @ Ove Tl gl
®Y ¥ B} AT AMRY |

@) v fasT Ree @ qof 9 o P
F¥d gy Rl @ SrgaeE ge Al
ey | |

(4 ve Rem Re@w 1 ger sfrm g
wfifsarelie arcmaRer e ST =Ry |

(5) areiRa we

03 - v¢
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144,

145,

146,

143. Match List-1 with List-I1T and sclect the correct

answer by using the code given below the lists -
List-1
(A) Essay type questions
(B) Matching type questions
(C) True-Falsc type questions
(D) Multiple type questions
List-II
(i) Statement with alternatives of answer
(i1) Measure complex leaming outcome
(iii) Matching of two or more scts of material
(iv) Declarative statement with two choices
Code -
(1 (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
(2) (A)-(i), (B)-(iii), (C)-(ii), (D)-(iv)
(3) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(@) (A)-(iv), (B)-(iii), (O)-(i), (D)-(ii)
(5) Question not attempted
The Continuous and Comprehensive Evaluation
in Science means -
(a) more frequent test
(b) summative and formative assessment
(c) evaluation of all aspects of development
Choose the correct code -
(1) Only (b)and (c)  (2) Only (b)
(3) Only (c) (4) (a), (b) and (c)
(5) Question not attempted
The characteristic of test items under which a test
mcasures only what it is designed to measure, is
called -
(1) Validity
(3) Reliability
(5) Question not attempted
Which of the following is related to ‘Faith in
possibility of solving problems'?

(2) Objectivity
(4) Relevance

143. qp‘n lTﬂ ?["h—

1 qﬁfm ﬂ‘Tﬁm aar A B
qy- :ﬂf‘rﬁ -
-1

(A) frasars gee
(B) e 9T

PORE N RE

(D) Fgfawedia ye
-1
(i) SR D fawedi & A HAT
(i) wifeer aiftrms afRomd @1 A9
(lll)ﬂmﬁiﬁﬂmmﬁﬁ?ﬂﬁaﬁ
(iv) <1 fadedl arem EgUIcAd DA
'('f-’,“'(-_‘f ——
@Y (A)-Gi), (B)-Gii), (C)-(iv), (D)-()
(2) (A)-(i), (B)-(iii), (C)-(ii), (D)-(iv)
(3) (A)-(ii), (B)-(i), (O)-(iii), (D)-(iv)
(@) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)

(5) argeIRa weA

144. st & aq d A19d b o 392l 8 —

(a) 3IfRr IR TRIETOT

(b) TFTTHD Ud RIATHD JTHeI

(c) fawra & Wit Tgqell &1 qeaidT
TE B BT TTT DI —

(1) Baet (b) TG (c) (2) Bad (b)

(3) Baet (c) A% (a), (b) TF ()

(5) ST U

145. qeror uygf @) 98 favyan, e sratia @

e gEr 7T & OIdr AeE w1 @ o
SgaT fafor gan 8, el 8 —

(1) e (2) Tegfresar

Y- frvarirgar (@) yrifirear

(5) JgeIRa uw

146. fr=fifag § | D9 THR THARME BT TRHIE]

§ fawarg’ § wwfg 87

1 L] . = . R . . =
:3; zc!cn:f::u I'l_-.ltcracy ::; iuentl:-ic Attitude (1) AP wrRar (2 Afie gy
°) Scientific Temper scientific
I ¢ (3) dsnfre wma  44) dsfe s
, Knowledge
®) Question not attempted () argaRe e
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148.

GET IT ON
Google Play

147. Which method has the following characteristics?

- It begins with observation,

- It leads to hypothesis development.

- It proceeds from specific to general.

- It is a method of discovery.

(1) Deductive Method (2) Project Method

(3) Lecture-cum- (4) Inductive Method
Demonstration Method

(5) Question not attempted

W_hich of the following is not an advantage of

using multi-sensory aids in teaching?

(1) Clear and vivid imagery

(2) Promoting de
students

(3) Vicarious learning experiences
(4) Enhanced retention of information
(5) Question not attempted

pendency and passivity among

147,

[ fafey o fy=iferfaa fagmend #2
T 01 70 B ) RO G | I
— ai yfaer famme @ s @ o 2
- au fafre & e @y ane asft B o
— g W @ uw fafy
(1) e fafe & o fafer
(3) orrF—u—yael=1(8) s fafe
fafer
(5) argaRe uvsr

148. fep=iferfRac 4 & wYeran ag—gfea o wemm

AW B YA BT UE Ay A8 87

(1) e 3R Sfrda feraragaar

A% wrEi W fnfvar e fifesaar @ agren
(3) 9Rer (@rgears) afenr arga

() STFHTY 6T dEadR TR 3 HRY|

(5) argaiRa ue=

149. Which of the following option shows the 149. fy=fafaa 3 & EFr T fadwey JANTIMTAT BT

importance of laboratory work? BT " qviiar 27

(a) Development of process skills of Science () Rsmr & uftbar Svraf &1 e

(b) Development of scientific attitude (b) FsnfIrH gftemr w1 e

(c) Understanding the nature of Science (c) st &Y wopfr @1 wwgrEn

(d) Development of cognitive abilities (d) TS erveall &1 ARy

Select the correct answer using the code given I Ry M B BT IUATT D GE IR

below - ?ﬁﬁﬁ _

Code - e —

(1) Only (b)and (c)  (2) (a), (b), (c) and (d) (1) g b)aem () 49F (a), (b), (c) q2 (d)

(3) Only (a) and (b)  (4) Only (a), (b) and (c) (3) Baet (a) @ (b) w;-agaﬂ (), (b) TR (c)

(5) Question not attempted (5) sraRa W

150. Read the Assertion (A) and Reason (R) carefully  150. 3iffymer (A) iR &Rl (R) &Y eam @ a8 aiRR
and choose the correct option - a8 fawer g+ —

Assertion (A) : Constructivist teaching Ifme (A): Rsm 3§ Fffaard) Rieor
strategies in Science promote R R g wfa
active participation and T e g W AR,
knowledge construction by -
students. . .

Reason (R) : Constructivism suggests that PRI (R) : mﬁmﬁﬂalﬂ [ aﬁqé;gi" 'Sn:r ﬁiﬁm
learners actively build their 5

- W fwg & o www w1 whiva
understanding of world based
on their experiences and prior Wy | P )
knowledge. (-2t (A) ol (R) W€ & 3R (R), (A) B
(1) Both (A) and (R) are true and (R) is the RS _
correct cxplanation of (A) ) (2) a”—;ﬁ (A) 3m (R) -,H-E-?[ g ﬁﬁ (R). (A) —‘ﬁ
(2) Both (A) and (R) are true but (R) is not the T e e R
correct explanation of (A) (3) (A)TE & AT (R) ToT D
::; (A) is true but (R) is false E% @) (A)Terd & AR (R) G B
(A) is false but (R) is true %
(5) Question not attempted - (5) argeilRer we
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